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1. OIIUC HABYAJIBHOI JUCHUILIITHA

Merta

MeTta BHWBYCHHS 1HO3€MHOI MOBH Yy HEMOBHOMY BY3i —
MiArOTYBaTH CTYJICHTA JI0 YHTAHHS aHTJIOMOBHOI JIITEpaTypH 3a
(dhaxoM, CHIJIKYBaHHS aHIJIIACHKOIO MOBOIO B PI3HHMX BHJAX
MOBHOI JISJTBHOCTI, MOMJIMBOCTI BHKOPHUCTAHHS aHTJIIMCBKOI
MOBH y MPAKTUYHHX ITIJIAX.

KommereHTHICTD

Men: 3K02 . 3naTHiCTh 0 COIIKYBATHCS 3 MpeICTaBHUKAMU
IHIIUX TpOQeciiHUX TpyN pIi3HOTO piBHA (3 €KcHepTaMu 3
THIIINX TaTy3ei 3HAHB/BHIIB €KOHOMIYHOI AiSTHHOCTI).

IIYA: 3K06. 3patnicte a0 mpodeciiHOro CHiIKyBaHHS
1HO3EMHOI0 MOBOIO.

Pesynbrar
HABYAHHS

Men: PHO9 Bwmitu cnijikyBaTHCh B Mpo(eciiHUX 1 HAyKOBHUX
KOJIax JIEp>KaBHOIO Ta 1HO3EMHOI0 MOBaMH.

IIYA: PHO09. CouikyBatucss 1HO3€MHOIO MOBOIO — Ha
npodeciiiHy TeMaTUKy, 0OTOBOPIOBATH MPOOIeMU MyOJ1YHOTO
YIOPABJIIHHS Ta pe3yJIbTaTH HOCTIIKEHb.

ba3oBi 3HaHHSA

3HaTH:

1. I'pamatuyH1 IpaBuiIa, rpaMaTU4HI KOHCTPYKLII IJI1 yCHOTO
Ta MMCbMOBOT'O MEPEKIIAAy aHTJIOMOBHUX TEKCTIB Ta
BUKJIaNy 1H(popMaIlii;

2. JlekCMYHMNA MIHIMYM OJMHMIIb 3 IPOTPAMHUX TEM KYpPCY.

ba3oBi BMiHHA

Bwmitu:

1. MOSICHIOBATH I'paMaTU4HI PaBUIIA;

2. BIII3HABATH, PO3PI3HATH Ta NEPEKIAJaTH PI3HOMAHITHI
rpaMaTUyH1 KOHCTPYKIII;

3. PO3YMITH MOHOJIOTIYHI TIOBIJIOMJIEHHS 3 3aCTOCYBaHHSM
MEBHUX I'PaMAaTUYHUX KOHCTPYKIIiif;

4, 3aCTOCOBYBATH I'paMaTUYHI MTpaBuja Ta KOHCTPYKII B

MEePEKIIaal TEKCTIB, J1AJOTTYHOMY MOBJICHHI Ta Ha MUCHMI.

ba3oBi HaBUYKH

1. BuxopuctoByBaTM TpaMaTU4yHI TpaBWiIa ISl TMEpPeKIary
TEKCTIB 3 aHITIMCHKOT MOBHU y MMPAKTUYHUX ITLISIX.

2. BixuBaTH TpaMaTU4Hl KOHCTPYKIlI B YCHOMY MOBJICHHI Ta
nepeKasi TeKCTIB 3 MPOTPAMHUX TEM KypCy.

[ToB’s13aHi
cuiiadycu

«Ino3emHa MoBa 3a mpodeciiiHuM CpsIMyBaHHAM» 2 P.H.

[Tonepenus
IUCIUIIIIHA

Hacrynna
IUCIUIIIIHA




JIEKIT:

KinbkicTe rogun | mpaktuuHi 3aHatTs: 60 y | cemectpi; 75 y I cemectpi
Ja00paTOPHI 3aHATTS:

CEMIHAPChKI 3aHATTS:

camocTiifHa po6oTa ctyaeHTiB: 105 y | cemectpi; 120 y 1
ceMecTpi

| cemecTp

2. MIPOT'PAMA HABYAJIbHOI JUCIUILITHUA

2.2. llpaktuuni moaymi | cemectpy

Kox Ha3zBa moayns ta tem KUTbKICTh roAHH
aynutopsi | CPC
3M- 15 25
m |1 a) “Management”. 2.5 3
b) “ What is management?” 2,5 3
c¢) Grammar: Indefinite Tenses (active and passive) |4 6
d) JlomamHe yntanHs (MEPEKIaa TEKCTY 3a Gpaxom | 5 8
Ta MEPEeKyIaj] CyCHIIbHO-TIOMITUYHOTO TEKCTY)
2. MonynbHa KOHTposbHA poboTa Ne 1 1 5
3M- 15 24
I12 | 1. a) “Business management” 2,5 2,5
b)  Micro-economics — the close up ”
¢) Grammar: Continuous Tenses (Active and 2,5 2,5
Passive) 4 6
d) JlomamiHe yntanHs (MEpPeKIaa TEKCTY 3a
dbaxom Ta nepeksiaj CyCcrnibHO-TOIITUYHOTO 5 8
TEKCTY)
2. MonynbpHa KOHTpObHA poboTa Ne 2
1 5




3M- 15 23

I13 |1.a) Theories of management. 2,5 2,5
b) Effective leadership.
c) Grammar: Perfect Tenses (active and passive) 2,5 2,5
d) lomarise ynTanHs (epeKiIag TEKCTY 3a (haxoM
Ta MepeKiaa CyCIuIbHO-TIOJITUYHOTO TEKCTY) 4 5
5 8
2. MonynpHa KOHTpOIbHA poboTa Ne 3
1 5
3M- 14,5 26
I14 | 1. a) The seven deadly sins of management. 2,5 3
b) Decision making. 2,5 3
¢) Grammar: Perfect Continuous Tenses 3,5 7
d) JlomamHe yntanHs (MEpPeKyIaa TEKCTY 3a ¢paxom | 5 8

Ta MePEeKyIaj] CyCHiIbHO-TIOJITUYHOTO TEKCTY).

2. MonynbpHa KOHTpobHA poboTta Ne 4 1 5
3M- | [lucbMoOBHIl IepeKIIaj 2
I3
CemecTpoBa 3aJlikoBa KOHTPOJIbHA poOoTa 0,5 5
60 105
Paszowm:
Koncynpranmii:

1. Kynenina Omnsra IOpiiBHa, ct. Buknagay, m’ staut 9.00 — 13.00, ayauTopis
607.

2.3. CamocrTiiiHa poboTa CTy/IeHTa Ta KOHTPOJbHI 3axoau y | cemectpi

Kon : Kinbkicts|  Crtpox
3aBnanHa Ha CPC Ta KOHTPOJIbHI 3aX01H
MOJTYJIst TOJAWH | IPOBEICHHS
3M-I11 25 1-4
THXXIIEHD
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 24 2 THKIEHD

M1JrOTOBKA rpaMaTUYHOI TEMHU Ta MiATOTOBKA
JIOMAIIHBEOI0 YUTAHHSI
e [linroTOBKA 10 BUKOHAHHS MOAYJIBHOI 5 3 TKIICHD
KOHTPOJBHOT poboTu Ne 1 (0060B’s3K0BE)
Konmponwvni 3axoou:




e YCHE ONIUTYBaHHA

3 THKIEHD

o [lepeBipka MMCbMOBO BUKOHAHUX CIIHUCKIB 4 TXJEHb
HE3HAMOMUX CJIIB Ta iX MepeKa Il YCHOTO
nepexsiaay TeKCTIB
o [lepeBipka MUCbMOBO BUKOHAHHUX 4 TXJIEHb
rpaMaTUYHUX BIIPaB
o MonaynpHa KOHTpOJIbHA poboTa Neo 1 4 THKICHB
3M-I12 24 5-8
TUXKICHb
o [TigroTOBKA /10 YCHOTO OMUTYBAHHH, 19 6 TIXIICHD
MirOTOBKA rpaMaTUYHOI TEMH Ta MIATOTOBKA
JIOMAIIIHBOTO YUTAHHS
e [linroToBKa 10 BUKOHAHHS MOJTYJIbHOT 5 7 THXKICHBb
KOHTPOJBHOT po6oTu Ne 2 (060B’A3K0BE)
Konmponwhi 3axoou:
o YCHE ONUTYBaHHS 7 THX/ICHD
o [lepeBipka MMCbMOBO BUKOHAHUX CIIHCKIB 8 THKIECHB
HE3HAMOMHUX CJIIB Ta iX MepeKiaa Jjisl yCHOTo
MepeKIaay TEKCTIB
e [lepeBipka NMCHbMOBO BUKOHAHUX 8 THXKIEHb
rpaMaTUYHUX BIIPaB
« MozynbpHa KOHTpOJIEHA poboTa Ne 2 8 THKIICHB
3M-I13 23 9-12
TUXKICHB
e [liroTOoBKa 10 YCHOTO ONMUTYBaHHS, 18 10 TKIIEHD
MIJTOTOBKA IpaMaTHYHO1 TEMHU Ta IMArOTOBKA
JIOMAIITHBOTO YUTAHHS
e [TigroToBKa 10 BUKOHAHHSI MOYJIBHOL 5 11 TwxneHb
KOHTPOJIbHOT po60oTu Ne 3 (0060B’s13K0BE)
Konmponwhi 3axoou:
e YCHE ONUTYBaHHS 11 TmoxneHp
o [lepeBipka MMCbMOBO BUKOHAHUX CIIHCKIB 12 trxneHp
HE3HAMOMHUX CJIIB Ta iX MepeKsiaa Jjisl yCHOTro
NepeKaay TEKCTIB
o [lepeBipka MMCbMOBO BUKOHAHHX 12 trxkneHpb
rpaMaTHYHUX BIIPaB
o MonaynpHa KOHTpOJBHA poboTa No 3 12 TroxaeHb
3M-114 26 13-15
TUXKICHB
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 21 13 THKIEHb

M1JrOTOBKA rpaMaTUYHOI TEMU Ta MiATOTOBKA
JIOMAIITHBEOTO YUTAHHSI




* [linroToBKa 10 BUKOHAHHS MOYJTHHOL

KOHTPOJIbHOT po00TH Ne 4 (060B’SI3K0BE)
Koumpoawhi 3axo0u.

e YCHE ONMUTYBAaHHS

o [lepeBipka MICEMOBO BUKOHAHUX CITHCKIB
HE3HAHOMMX CIIiB Ta iX MepeKyIal A1 yCHOTO
NepeKIaay TeKCTiB

o [lepeBipka MICHbMOBO BUKOHAHHX
IrpaMaTUYHHUX BIIPAB

o MoaynpHa KOHTpOJIBHA poboTa No 4

14 THXKIeHb

14 THXKIeHb
15 THXKIeHb

15 THXKIeHb

15 THXKIeHb

3M-13 | [ligroTroBKa MMUCHMOBOTO TMEPEKIATY
KoHTpoapHuii 3axis

o IIucemMoBHMY nepekna
(000B’s13K0OBE)

12 TmoxneHs

[TinroToBKa /10 3aJ1iIKOBOT KOHTPOJIBHOT pOOOTH
Konmponwni 3axoou:
o 3aJ1iKOBa KOHTPOJIbHA POOOTA

15 TxneHs

Pazowm:

105

1. MeToaMKa NPOBEACHHS TA OIHIOBAHHA KOHTPOJLHOIO0 3axoay aiasa 3M-II1.

MiHiMaIbHUHM 00CAT 0a30BUX 3HAHb, IIT0 HEOOX1THMM 11 3aCBOEHHSI 3M —

I11:

— YUTATH, MIEPEKIIaaTh Ta repekasyBatu Tekctu «“ Management”, “What is

management?”.

— YUTATH, TIEPEKIATATH Ta AHOTOBAHO MEePEKa3yBaTH CYCIUIbHO-TIONITUYH]

TCKCTH.

— BU3HAYATHU XapPaKTCPUCTHUKH BKUBAHHA Ta IMCPCKIIAAY I'paMaTHUYHHUX SABUIIL

3a Temoro Indefinite Tenses (Active and Passive).

— YWTaTH, MEPEeKIaJaTH Ta aHOTOBAHO MEpeKa3yBaTH TEKCTH 3a (haxOBOIO

TEMATHKOIO.

MaxkcumanbHa cyma 6aiiB 3a 000B’A3K0B1 3aX01 KOHTpo:Ito 3 3M—I11 — 23 Gainu.

1 3aBnannsg — 17 OaiiB:

JluB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
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1 — ycHuil nepekiaaa TEKCTy
1 — nepekas TeKCcTy

b) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHIIIHCHKOIO MOBOIO
1 — cniucok He3HAOMUX CIIIB Ta iX MEpeKIa
1 — ycHuii epexna TEKCTy
1 — nmepekas TekcTy

c) 2(0,5+1,)5)
0,5 — mucemoBwmii koHciekT TpaBwi 3 Temu Indefinite Tenses (Active and Passive)
1,5 — nMCcbMOBO BUKOHAHHI IPaMaTHU4HI BIPaBU

d 7 (35+3)5)

35 (1+1+05+1) mnepeknaa TeKCTy 3a paxom
1 — cnicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu# nepexaa TeKCTy
0,5 — mucpMOBO BUKOHAHHE Summary
1 — ycae Summary

35 (1+1+05+1) mnepexnan cycrniabHO-TIOJITHYHOTO TEKCTY
1 — ciucok He3HaMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHui#l nepeknaa TEeKCTy

0,5 — nucpMOBO BUKOHAHHE Summary
1 — ycue Summary

1 3aBmanus (17 OamiB) He € 000B’SI3KOBUM.

2 3aBHaHHsA — 23 Oanu:

Buxonagasg MKP Ne 1

MonynbpHa KOHTpOJIbHA poboTa ckimanaeThes 3 30 3aBaanb. KoxkHe 3aBIaHHS
0,77 Oamu. MoayiabHa KOHTpOJIbHA pPOOOTa BBAXKAETHCS 3apaxOBaHO, SKIIO
HaJ[aHO MiHIMYM 18 npaBUIBLHUX BiAMOBIICH.

Axmo 3axoau 000B’S3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYACHTOM
MICTIsl CTPOKIB, BU3HAYEHUX y TIPOTpaMi HaBYAIBHOI IUCIUIUTIHHU, KIJTBKICTh OaliB,
0 MOK€ OTPUMATH CTYACHT, HE MOXke mepeBuiryBatd 60% Bil MaKCHUMaJIbHO

8



MOSKJIBOT JIJ1s 1i€i (POpMH KOHTPOJIIO.

Ominka 3a okpemi (200 yci) MOAYINI 3HMXKYEThCS Y pa3l MPOMYCKIB 3aHAThH
CTYJIEHTOM. 3a KOXKHE MPONYIIEeHe 3aHATTA 3HIKYeThes 0,5 O6anu, ane MiHIMaiabHa
OIIIHKA TICJIsl 3HUKEHHA HEe Moke OyTH Hibk4da 60% BiJ MaKCUMaJIbHO MO>KJIUBOI.

MakcumanbHa cymMa 000B’sa3koBux 6amiB 3 3M-I11— 23 6anu.

2 3aBnaHHA (23 6anm) € 000B’I3KOBUM.

2. MeToauKAa NPOBEACHHS TA OIIHIBAHHI KOHTPOJILHOI0 3axoay aias 3M-I12.

MiHiMaIbHUM 00CAT 0a30BUX 3HAHb, IIT0 HEOOX1THMUM 11 3aCBOEHHI 3M —
I12:

— YUTATH, MIEPEKJIaIaTh Ta epeka3yBaTu TekcT “Business management”,

“Micro-economics - the close up”.

— YWTATH, MEPEeKJIaJlaTh Ta aHOTOBAaHO TMEPEeKa3yBaTH CYCHUIbHO-TOJITHYHI

TEKCTH.

— BU3HAYATU XApaKTEPUCTUKHU BKUBAHHS Ta MEpPEKIaay TpaMaTUYHUX SBUIIL

3a Temoro Continuous Tenses (Active and Passive).

— YWTAaTH, MEPEKIaaTH Ta aHOTOBAHO MEpEeKa3yBaTH TEKCTU 3a (PaxoBOO

TEMaTHKOIO.

MakcumanbHa cyma 6aiiB 3a 000B’A3K0B1 3aX01u KOHTpo:Ito 3 3M—I12 — 23 6anwu.

1 3aBgannasg — 17 GauiB:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHui#l nepeknaa TEeKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHIIIHCHKOIO MOBOIO
1 — ciucok He3HAOMUX CIIIB Ta iX MepeKIa
1 — ycHuil nepeknaa TEKCTy
1 — nmepekas TekcTy



c) 2(0,5+1,5)
0,5 — nuceMoBuii KoHcmekT mnpaBmia 3 Temu Continuous Tenses (Active and
Passive)
1,5 — mMcbMOBO BUKOHAHHI 'paMaTU4HI BIPaBU

d 7 (35+3)5)

35 (1+1+05+1) mnepekian tekcry 3a ¢paxom
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — ycHuil nepekaa TEKCTy
0,5 — MMCcbMOBO BUKOHaHHE Summary
1 — ycue Summary

35 (1+1+05+1) mnepexnaa cycrniabHO-TOTITHYHOTO TEKCTY
1 — cnicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t nepexsaa TeKCTy
0,5 — mucpMOBO BUKOHAHHE Summary

1 — ycue Summary

1 3aBganns (17 0aiiB) He € 00OB’SI3KOBHUM.

2 3aBAaHHI — 23 Oanu:

Bukonanasg MKP Ne 2

MonynbpHa KOHTpoJibHA poOoTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBnaHHs
0,77 Gamu. MoaynbHa KOHTPOJbHA POOOTAa BBAXKAETHCS 3apPaxOBAHOIO, SKIIO
HaJaHO MiHIMYM 18 npaBUILHUX BiAMOBIIEH.

Axmo 3axoan 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCHsl CTPOKIB, BU3HAYEHUX Y IPOrpaMi HaBYAJIbHOI IMCLUUIUIIHHU, KIJIBKICTh OaiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MOxe mnepeBuuryBatd 60% Bin MakCHUMAaJIbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOIIO.

Ominka 3a okpemi (200 yci) MOAYNI 3HMXKYEThCS Y pa3i MPOMYCKIB 3aHAThH
CTYJIEHTOM. 3a KOKHE MPOMYIIECHE 3aHATTS 3HWKY€eThcs 0,5 Oanu, ajne MiHIMalbHA
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Hmk4da 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MaxkcumanbHa cyma 000B’s13k0BuX OaiiB 3 3M-112 — 23 Ganu.

2 3aBnanHs (23 6ann) € 000B’SI3KOBUM.
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3. MeToaMKAa NPOBEIEHHS TA OIIHIOBAHHSA KOHTPOJLHOI0 3axoay aisa 3M-I13.

MiHIMaJIbHUHM 00cAT 0a30BUX 3HAHD, 110 HEOOX1HHH U 3aCBOEHHS 3M —
I13:

— YUTaTH, NepeKIafaTi Ta nepekasyBatu temy “Theories of management”,

“Effective leadership”.

— YHUTaTH, MEePeKIaJaTh Ta aHOTOBAaHO IMEpeKa3yBaTH TEKCTU 3a (HaxoBOIO

TEMaTHKOIO.

— YUTaTH, TEepeKafaT Ta aHOTOBAHO MEpeKa3yBaTH CYyCHIbHO-TIOTITHYHI

TEKCTH.

— BU3HAYATH XapPaKTEPUCTUKH BXKUBAHHS Ta MEPEKIIAJy IPaMaTUIHUX SBHUII

3a Temoto Perfect Tenses (Active and Passive).

MakcumanbHa cyma 6aiiB 3a 000B’3K0BI 3aX01 KOHTpouto 3 3M—I13 — 22 Gainu.

1 3aBmaHHsa — 17 GaiB:

JuB. Tabm1. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIMCHKOK MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHu#t mepekaaa TeKCTy
1 — mepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTIIHCHKOI0 MOBOO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHu#t mepekaa TeKCTy
1 — nmepekas TekcTy

c) 2(0,5+1)5)
0,5 — nmuceMoBHiA KOHCTIEKT TipaBwi 3 Temu Perfect Tenses (active and passive)
1,5 — TMCbMOBO BUKOHAHHI IPAMAaTHYHI BIPAaBU

d) 7 (3,5+3)5)
35 (1+1+05+1) mnepeknaa TeKcTy 3a axom

1 — ciucok He3HAMOMHMX CJIIB Ta iX MepeKiIal

11



1 — ycHuil nepekiaaa TEKCTy
0,5 — nucpMOBO BUKOHAHHE Summary
1 — ycue Summary

35 (1+1+05+1) mnepexian CycribHO-IIOJITUYHOIO TCKCTY
1 — criMcok He3HAHOMUX CIIiB Ta iX MepeKIa
1 — ycHul nepekaa TEKCTy
0,5 — MMCcbMOBO BUKOHaHHE Summary

1 — ycue Summary

1 3aBmanns (17 6aniB) He € 00OB’SI3KOBHM.

2 3aBIaHHs — 22 Oau:

Buxonauasgs MKP Ne 3

MonynbHa KOHTpOJbHa poboTa ckianaetses 3 30 3aBnanb. KokHe 3aBnaHHs
0,73 ©Oamu. MopaynpHa KOHTpOJbHAa poOOTa BBAXKAETHCS 3apPaxOBaHOIO, SIKIIO
HaJaHO MiHIMYM 18 mpaBUIbHUX BiAMOBIIEH.

Axmo 3axoan 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCIsl CTPOKIB, BU3HAYEHHUX Y IPOrpaMi HaBYAJIbHOI IMCLUUIUTIHU, KUIBKICTh OaliB,
0 MOXKE€ OTPUMAaTH CTYAEHT, HE MOxe mnepeBuuryBatd 60% Bin MakCHUMAaJIbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOIIO.

Ominka 3a okpemi (200 yci) MOAYNI 3HMKYEThCS Y pa3i MPOMYCKIB 3aHSAThH
CTYJICHTOM. 3a KO>KHE MPOITyIIIeHe 3aHATTS 3HIWKyeThes 0,5 Oana, ame MiHIMalIbHA
OIIIHKA TICTISl 3HWKEHHA HEe MOke OyTH Hibk4a 60% BiJ MaKCUMaJIbHO MO>KJIUBOI.

MakcumanbHa cyma 000B’s13k0Bux 6aiiB 3 3M-I13 — 22 Ganu.

2 3aBnanHs (22 6ann) € 000B’ I3KOBUM.

4, MeTOoauKa NPOBEACHHS TA OIIHIOBAHHA KOHTPOJILHOT0 3ax0ay s 3M-114.

MiHIMaJIbHUM 00CAT 0a30BUX 3HAHD, 1110 HEOOX1THHUH SIS 3aCBOEHHS 3M —
[14:

— YUTATH, TIEPEKIIaaTh Ta nepekasdyBaru Temy “The seven deadly sins of

management”, “Decision making”.

— YUTaTH, MEPeKIalaTd Ta aHOTOBAaHO MEpeKa3yBaTH TEKCTH 3a (HaxoBOIO

TEMaTHUKOIO.

12



— YUTaTH, TEepeKyafaT Ta aHOTOBAHO MEpeKa3yBaTH CYCHUIbHO-TIOIITHYHI
TEKCTH.

— BU3HAYaTHU XapaKTEPUCTUKU BXXKUBAHHS Ta MEPEKIaAy rpaMaTHYHUX SBUILL
3a Tremoro Perfect Continuous Tenses (Active and Passive).

MaxkcumanbHa cyma 0aiiB 3a 000B’sI3K0BI 3ax0/11 KOHTpoutto 3 3M—I14 — 22 Ganu.

1 3aBganHsa — 17 OaiB:

JluB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t nepexsaa TeKCTy
1 — mepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHull nepekaa TEKCTy
1 — nmepekas TekcTy

c) 2(0,5+15)
0,5 — nuceMoBHit KoHCIEKT mpaBui 3 Temu Perfect Continuous Tenses (Active and
Passive)
1,5 — TMICEMOBO BUKOHAHHI IPaMaTH4HI BIIPABH

d) 7 (3,5+3)5)
35 (1+1+05+1) mnepeknaa TekcTy 3a paxom

1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHui#l nepeknaa TEeKCTy

0,5 — MmMcbMOBO BUKOHaHHE Summary

1 — ycue Summary

35 (1+1+05+1) mnepexiaa CycHiIbHO-MONITAYHOTO TEKCTY

1 — circok He3HAMOMHUX CIIiB Ta TX TepeKIa
1 — ycHuil nepekiaa TEKCTy
0,5 — nchbMOBO BUKOHAHHE Summary

13



1 — ycue Summary

1 3aBnanns (17 0aniB) He € 00OOB’SI3KOBHUM.

2 3aBaaHHAg — 22 Oanu:

Bukonanasg MKP Ne 4

MonynpHa KOHTpoJIbHA poboTa ckinanaeThes 3 30 3aBganb. KoxkHe 3aBmaHHs
0,73 ©Oamu. MopaynpHa KOHTpOJbHAa poOOTa BBAXKAETHCS 3apPaxOBaHOIO, SIKIIO
HaJaHO MiHIMYM 18 mpaBuIbHUX BiAMOBIIEH.

Axmo 3axoau 000B’S3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYACHTOM
MICTsl CTPOKIB, BU3HAYEHHUX Y TIPOrpaMi HaBYAIbHOI IUCIUIUTIHHU, KIJTBKICTh OaliB,
0 MOXKE€ OTpUMATH CTYACHT, HE MOxke mepeBuiryBatd 60% Bil MakCHUMAaJIbHO
MO>KJIMBOI JUIsI 11i€1 JOPMU KOHTPOJTIO.

Ominka 3a okpemi (200 yci) MOAYNi 3HMXKYETHCS Y pa3i MPOMYCKIB 3aHAThH
CTYJIEHTOM. 3a KOXKHE MPOMNYIIEeHEe 3aHATTA 3HIKYeThes 0,5 Oanu, ane MiHIMaiabHa
OIIIHKA TICIIsl 3HWKEHHA HEe MOke OyTH Hibk4da 60% BiJ MAaKCUMaJIbHO MO>KJIUBOI.

MaxkcumanbHa cyma 000B’s13k0BuX OaiiB 3 3M-114 — 22 Ganu.

2 3aBaaHHA (22 0ann) € 000B’I3KOBHM.

3. MeToaMKAa MPOBEICHHS TA OIIHIOBAHHS iHAMBIIVAJILHOT0 3aBIAHHS 3M-13
(IUCHLMOBOT0 NEPEKJIATY) .

[HauBinyanpHe 3aBIaHHS 1€ MHCHBMOBHUM TIEPEKJIa] JABOX BHUIIB TEKCTIB
(25000 gmp.3nakiB). 1. Ilepexman Tekcry 3a daxom (15000 np.3HakiB). 2.
[lepexnan cycnimpHO-noNiTHYHOL Jiekcuku (10 000 np.3HaKiB).

MiHimManpHUNi 00CST MHCHMOBOIO MEPEKJIaay, 10 HEOOXIMHMM IJisi 3aCBOEHHS
HaBUYOK pOOOTH 3 IHO3EMHUM TeKCcTOM ckiaaae 25 000 ap. 3HaKIB 3a ceMecTp.

[lepexman TekcTy 3a (axoM OIIHIOEThCS B S5 OaliB, Nepekajl CyCIHUIbHO-
MOJITUYHOT JIEKCUKH OIIHIOETHCSA TEX B 5 OalmiB. YChOro iHAMBIyaTbHE 3aBAaHHS

oiHETHCS B 10 OaiB.

[nauBinyansue 3aBganHs (10 6aniB) € 000B’SI3KOBUM.
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4. MeTOAUKA MPOBEICHHS TA OIIHIOBAHHA CEeMECTPOBOro 3aJiKOBOI0
3aBJIAHHSI.

3a1ikoBa CEMECTpPOBa KOHTPOJIbHA poOoTa ckiamaeTbess 3 40 3aBraHb.
Koxxne 3aBmanns 2,5 Oamu. 3amikoBa KOHTPOJbHA poOOTa BBAXKAETHCS
3apax0BaHOI0, SAKIO HajaHo MiHIMyM 20 MpaBUIBLHUX BIMIOBIICH.

KoHTposib MOTOYHNX 3HAHb BUKOHYETHCS Ha 0a31 HAKOMUYYBaJIbHOI CHCTEMU
oprasizailii HaB4aHHS.

dakTnyHa cyma 0aliB, SIKy OTPUMY€ CTYACHT 3a MEBHUU 3MICTOBHHIA
MOJyJib, MAa€ CKIAAaTuCs 13 pe3yJbTaTiB BUKOHAHHS 3aXOAIB 3 KOHTPOJIO, IO
3allJJaHOBAaHI 3a IIMM 3MICTOBHUM MOJyJieM, Ta YpaxOBYBaTH CBOE€YACHICTh
(HampuKJIaa: CTYACHT, SKUM TPOMYCTHUB KOHTPOJBHUN 3axi 0e3 MOBaKHUX
OpUYUH a00 OTPUMAaB HE33JIOBUIBHY OIIIHKY, Ma€ NPaBO y THKHEBUW TEPMIH
BUKOHATH 3aBJaHHS 1IbOTO 3aX0/1y 3 MAaKCUMAaJIbHOIO CyMOIO 0alliB, €KBIBaJICHTHOIO
OLIHIII HEe OUIBIIN HDK "3al0BUIRHO") BHUKOHAHHA CTYIEHTOM Tpadiky
HaBYaJILHOTO MPOIIECY.

Cymu OaniB, sKi OTpUMaB CTYJEHT 3a BCiMa 3MICTOBHUMHU MOJIYJSIMU HaB-
YaJIbHOI JUCHUIUIIHU, (POPMYIOTh KUIBKICHY OIIHKY (0ajn yCHIIIHOCTI) 3a
OiACYMKaMHM TOTOYHUX KOHTPOJIOIOUMX 3aXOAIB CTyJ€HTa 3 HaBYaJIbHOI
JUCHUIUTIHU. Pe3yiapTaT TMOTOYHOTO KOHTPOJIIO 3aHOCATHCS /O 1HTETPaIbHOI
BiIoMOCTI. PilleHHs mpo JOMycK CTyA€HTa J0 MiJICYMKOBOIO CEMECTPOBOIO
KOHTPOJIIO 3 KOHKPETHOI HaBYAJIbHOI TUCIUIUIIH peryiaMeHTyeThesl [lomoskeHHs M
PO TPOBEICHHSI MMiICYMKOBOT'O KOHTPOJIIO 3HAHb CTYACHTIB.

CTymeHT BBaXa€TbCs JOMYIIEHUM O MiJCYyMKOBOTO CEMECTPOBOTO
KOHTPOJTIO, SIKIIIO BIH BUKOHAB BC1 BUIM PoOIT, epeadayeHi poOou0r0 HaBYaIbHOK
MIPOrpaMor0 TUCIMILIIHU 1 HaOpaB 3a MOAYJIBHOIO CUCTEMOIO CyMy OajliB HE MEHIIIE
50 (50%) Bim makcuManbHO MOXIMBOI (000B’si3koBa yactuHa 100 OamiB) 3a
MPaKTUYHY YACTUHY.

[TimcyMKOBUM KOHTPOJIEM 3HAHB CTYJICHTIB € 3aJiK.

CryaeHT OTpUMY€E 3ajiiK, KOJM BIH Ma€ Ha OCTaHHIA JICHb CEMECTpY
IHTErpajgbHy CyMy OajiB MOTOYHOIO KOHTPOIO, AocTaTHiO (60% Ta Oinblue) s
OTPUMAaHHS MO3UTUBHOI OLIIHKKA Ta He MeHIe 50% BiI MaKCHUMAJIbHO MOKJIMBOI
cyMH 0aJIiB Ha 3a/1IKOBi KOHTPOJIbHIN POOOTI.

InTerpanbha ominka (B) mo aucuurmuiiHi po3paxoByeThes 3a (popMysior0

B =0,75 x O3 + 0,25 x O3KP,

ne O3 — kinbKicHa OIiHKa (y BIJCOTKaxX BIJ MaKCHUMaJIbHO MOXIIMBOi) 3a
3MICTOBHUMH MOJYJISIMU;
O3KP - kinbkicHa omiHKa (y BIACOTKaX BiJi MaKCHUMAJIbHO MOKJIUBO)

3aJIIKOBOi KOHTPOJIBHOT POOOTH.
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3. PEKOMEHJALIT IO CAMOCTIMHOI POBOTH CTYJEHTIB

3.1.  Mooyas 3M-IT1 “ Management”, “What is management? ”; I pynu uacis
Indefinite (Present, Past i Future) 6 akmugnomy i nacueHomy cmanax, nepekiao
meKkcmy 3a paxom ma CyCniibHO-NOJIMUYHO20 MEKCMy 3 AH2NIUCbKOI Ha
VKPAiHCbKY MO8Y.

Jlitepatypa: [1, c. 6 -35], [2, c. 20-24]

3.1.1. [ToBuanHs

a) Text A. “Management”

1. [IpounTaTy TEKCT aHIITINCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH X TIEPEKIIal.

3. YcHO nepeksiacTu TeKCT 3 aHTIHCHKOI Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.

b) Text B. “What is management?”.

1. [IpounTaTy TEKCT aHINTINCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIa.

3. YCHO nepeKi1acTu TEKCT 3 aHTIHChKOI Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.

c) Grammar:
I'pynu yaciB Indefinite (Present, Past i Future) B akTuBHOMY i ITACUBHOMY
cTaHax

1. 3poOuTH KOHCTIEKT MTPaBUJI YTBOPEHHS Ta BXKUBAHHS IPYIIN YaciB
Indefinite (Present, Past, Future) B Active and Passive Voice.
2. BukoHaTu TpeHyBaJibHI FpaMaTH4HI BIPABH.

d) JlomariliHe ynTaHHS:
1. mepexnaa TEKCTy 3a paxom:

1. CaMoCTIitHO BUOpaTH TEKCT HAYKOBOI CTAaTTI 3 HAYKOBOIO XKypHaIIy 3a (paxoM Ha
anrmicbkii MoBi ( 8000 ap.3HaKIB)

2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH iX TIEPEKIIaI.

3. YCcHO nepeK1acTu TEKCT 3 aHITIHChbKOT Ha YKPaiHChKY MOBY.
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4. [TucpmoBe Summary.
. YcHe Summary

)

2. mepekJiaj] CyClnuIbHO-TIOJMITUYHOTO TEKCTY:

1. CaMocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOI razeTH ( 5000 ap.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH X TIEPEKIIaI.

3. YCHO nepeK1acTu TEKCT 3 aHITIHChKOT Ha YKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. Ycue Summary

3.1.2. [lutanHs 151 caMOIIepeBIpKU

=

What is management?

What functions has any manager got

3. Is there a difference between the words an executive, a manager and an

administrator?

4. What must the employer consider to choose from among the applicants?

Who must integrate departmental and personal goals with those of the
enterprise a s a whole?

What does each department in a division of a company rely on?

Why do many businesses fail?

What problems do managers or executives have to solve?

9. What is the aim of consultation?

10. What is the difference between management and leadership?

11. What are the manager resources to invest?

12. What is the function of management?

13. What is the aim of management?

14. What do excellent managers know?

15. What requires managers to work very closely with all relevant stakeholders?

N

o

o

» (X3

3.2.  Mooyas 3M-IT2 “Business management”, “Micro-economics — the close
up”; I pynu yacie Continuous (Present, Past i Future) ¢ akmugnomy i nacugnomy
CMaHax, nepekiao CyCnilbHO-NOJIMUYH020 MeKCmy 3 AH2ilUCbKOI Ha YKPAIHCbKY
MO8U, NepeKIa0 mekcmy 3a (haxom.

Jlireparypa: [1, ¢. 35 -66], [2, C. 24-26]
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B W N

BN W=

a)

b)

3.2.1. IloByanus

Text “Business management”,

1. [IpounTatu TEKCT aHTIIHCHKOIO MOBOIO.

2. BunncaTy 3 TeKCTy HOBI CJI0OBa Ta 3pOOUTH X MTEepeKIIa.

3. YCcHO nepeks1acTu TEKCT 3 aHITIHChKOT Ha YKPaiHCHKY MOBY.
4. Ilepeka3aTu TEKCT.

Text “Micro-economics — the close up”.

1. [IpounTaTu TEKCT aHTIIHCHKOIO MOBOIO.

2. BunucaTu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH X MEepeKal.

3. YCcHO nepekiacTi TeKCT 3 aHTIIHChKOI Ha YKPaiHChbKY MOBY.
4. IlepekaszaTu TEKCT.

['pynm gaciB Continuous (Present, Past i Future) B akTHBHOMY i TACHBHOMY
cTaHax

1. 3poOuTH KOHCTIEKT MPaBWJI YTBOPEHHS Ta BXKUBAHHS TPYIH YaciB
Continuous (Present, Past, Future) B Active and Passive Voice.

2. BukoHaTu TpeHyBaJIbHI FpaMaTH4HI1 BIPABHU.

JlomalirHe YMTaHHS:

1. mepexnaa TEKCTy 3a paxom:

. CamocTiifHO BUOpaTH TEKCT HAYKOBOI CTATTi 3 HAYKOBOTO JKypHaITy 3a (haxoMm Ha

anrmircbkii MoBi ( 8 000 ap.3HAKIB)

. BunucaTu 3 TekcTy HOBI ClioBa Ta 3p0OUTH X TEPEKIIa/l.

. YCHO mepeK1acTu TeKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.
. [TucemoBe Summary.

. Ycue Summary

2. nepekJiaj] CyClnuIbHO-TIOJITUYHOTO TEKCTY:

. CamocTiifHO BUOpaTH TEKCT 3 aHIIOMOBHOI razetu (5 000 ap.3HaKiB)
. BuniucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH iX MEPEeKIIal.

. YCHO nepeKIacTu TEKCT 3 aHIJIMChbKOT Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary
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3.2.2. IlutaHHs 711 caMOIIepeBIpKU

. What does management theory hold today?

. What is Empower?

What perspective do economists take?

What are the central points of micro-economics?
What do the policies we advocate depend on?
What do we want as producers and as consumers?
What does micro-economics look at?

What does micro-economics focus on?

. What does the market system have?

10 What is the fundamental theory of demand?

11. What can you predict if you are a decision-maker in a top-management
position?

CoNOOR~ODE

3.3.  Mooyas 3M-II3 “Theories of management”, “Effective leadership”’; Ipynu
yacie Perfect (Present, Past i Future) 6 axmueHOMY [ NACUBHOMY CMAHAX,
nepeKaao CyCnilbHO-NOJIMUYHO20 MEKCMY 3 AH2AIUCLKOT HA YKPAIHCHKY MOBU.

Jlitepatypa: [1, c. 67-95], [2, c. 26-28]

3.3.1. [loByanHus

a) Text “Theories of management”.

1. [IpounTaru TEKCT aHTIIHCHKOIO MOBOIO.
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.
3. YCHO nepeKIiacTu TEKCT 3 aHIJIHCHKOI HAa YKPaiHChKY MOBY.

b) Text “Effective leadership”.

1. [IpounTatu TEKCT aHTIIHCHKOIO MOBOIO.
2. Bunucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX MepeKa.
3. YCcHO nepeKs1acTu TEKCT 3 aHITIHChbKOT Ha YKpaiHChKY MOBY.

c) Grammar:
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I'pynu gaciB Perfect (Present, Past i Future) B akTHBHOMY 1 IACHBHOMY

CTaHax

N B W

DN AW =

1. 3pobuTH KOHCTIEKT MpaBUJI YTBOPEHHSI Ta BXKUBaHHS Ipynu vaciB Perfect
(Present, Past, Future) B Active and Passive Voice.
2. BukoHaTtu TpeHyBajbHI rpaMaTU4HI BIIPABHU.

d) JdomarlHe YMTaHHS:

1. mepekyag TeKCTy 3a haxom:

. CaMocCTIiitHO BUOpaTH TEKCT HAYKOBOI CTAaTTI 3 HAYKOBOIO XypHaITy 3a (paxoM Ha

anTiceKii MoBi ( 8000 ap.3HAKIB)

. BuniucaTu 3 TekcTy HOBI ClIoOBa Ta 3pOOUTH iX MEPEKIIa/l.

. YCHO mepeK1acTu TeKCT 3 aHTJIHCHKOI Ha YKPaiHChKY MOBY.
. [TucemoBe Summary.

. Ycue Summary

2. IICPCKIIaa CYCHiJILHO-HOJIiTI/I‘IHOI’O TCKCTY:

. CaMocTiiiHO BUOpaTH TEKCT 3 aHTJIOMOBHOI razeTH ( 5 000 mp.3HaKiB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH iX HEpEKIal.

. YCHO MepeKIIacTy TEKCT 3 aHTJIIHChKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. YcHe Summary

3.3.2. [lutanHs 1715 caMonepeBipKU

What did the Industrial Revolution bring?

1
2. When was Theories of Management written?

3. Who wrote Theories of Management?

4. What does traditional management focus on?
5.
6
7
8
0.

What does bureaucratic management focus on?

. What does scientific management focus on?
. What does administrative management focus on?
. What is the universal goal of organizations?

What is the universal principle?

10. What are the differences between being a boss and being a leader?
11. What is the secret of effective leadership?
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3.4. Mooyav 3M-II4  “The seven deadly sins of management”, “Decision
making ”’; I pynu uacie Perfect Continuous (Present, Past i Future) 6 akxmuenomy i
NACUBHOMY CMAHAX, NePeKaad CYCRIIbHO-NOJIMUYHULL MEKCM 3 AH2ICbKOI Ha
VKPAIHCHKY MOBU, NepeKiad mekcmy 3a paxom.

Jliteparypa: [1, c. 96-122], [2, c. 28-32]

3.4.1. [ToBuanus

a) Text “The seven deadly sins of management”.

1. [IpounTatu TEKCT aHTIIHCHKOIO MOBOIO.

2. Bunucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH X MEepeKal.

3. YCcHO nepekiacTi TeKCT 3 aHTJIACHKOI Ha YKPaiHCbKY MOBY.
4. Tlepeka3aTu TEKCT.

b) Text “Decision making”.

1. CamocTiitHO 00paTy TEKCT 3 aHTIAOMOBHOI razetu (2500 mp.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIa.

3. YCHO nepeKnacTi TEKCT 3 aHIJIHCHKOI Ha YKPAiHCbKY MOBY.

4. TIucemoBe Summary.

5. Ycue Summary

c) Grammar:
I'pyou yaciB Perfect Continuous (Present, Past 1 Future) B akTuBHOMY 1
MACUBHOMY CTaHaX

1. 3po0OUTH KOHCIIEKT TPaBUJI YTBOPECHHS Ta BXKUBaHHs rpymu yaciB Perfect
Continuous (Present, Past, Future) B Active and Passive Voice.
2. BukoHaTu TpeHyBallbHI FpaMaTH4HI BIPABH.

d) JlomariHe ynTaHHS:
1. mepexnaa TEKCTy 3a paxom:

1. CaMoCTIitHO BUOpaTH TEKCT HAYKOBOI CTAaTTI 3 HAYKOBOIO XKypHaIIy 3a (paxoM Ha
anrmicbkii MoBi (8000 ap.3HaKIB)

2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH iX TIEPEKIIaI.

3. YCHO nepek1acTu TEKCT 3 aHIIIHChbKOT Ha YKPaiHChKY MOBY.
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4. [TucpmoBe Summary.
. YcHe Summary

)

2. mepekJiaj] CyClnuIbHO-TIOJMITUYHOTO TEKCTY:

1. CaMocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOI razeTH ( 5000 ap.3HaKiB)
2. BunucaTu 3 TeKCTy HOBI CJIOBa Ta 3pOOHTH X MEepeKIal.

3. YCHO nepeK1acTu TEKCT 3 aHITIHChKOT Ha YKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. Ycue Summary

3.4.2. [lutanHs 17151 caMOTIePEeBIPKU

1. What are the seven deadly sins of management?

Who has the developed capacity of assessing situations and making considered
decisions?

Who wrote the remarkable words about a decision?

What are the 3 basic approaches?

What is delay?

What is instant decisions?

What is the professional approach?

What types of decisions do you know?

What is the first step for making a decision?

N

©CoOoNO Ok

3.5 [Inousioyanvue 3a60anns.

InaiBimyanpHe 3aBIaHHS 1€ TMCBMOBHH TIepekiia 1Box BuIiB TekceTiB (25 000
JIp.3HAKIB).

1. ITepexnan Texcry 3a daxom (15 000 ap.3nakiB). Jjist HOoro BUKOHAHHS CTYJICHT
MOBUHEH:
1. CamocTiitHO BUOpaTH TEKCT 3a (paxom (HayKoBa CTATTA Y HAYKOBOMY
KypHail).
2. Hanucatu cnircok He3HAHOMUX JIJISI HBOTO CJIiB Ta iX MepeKIa.
3. Hanucatu nucbMoBUi EpeKiaj TEKCTY.
4.V 3a3HaueHUN TEPMIH 37aTH 3aBAaHHS (AHTVIIMCHKUANA TEKCT, CIIUCOK
HE3HaOMUX CJIB, mepekian) Bukiaaaauy. CTyIeHT 0O0OB’SI3KOBO MOBUHEH
BKAa3aTH JIKEPEIIO, 3 SIKOTO B3ATUH MEPEKIIAICHUN TEKCT.

2. IMepexinan cycminbHO-ToniTuaHOI Jiekciku (10 000 ap.3HakiB). Jlyis ioro
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BUKOHAHHS CTYJECHT TTOBUHEH:
1. CaMocTiifHO BUOpaTH TEKCT 3a ¢haxoM (CTaTTsS 3 aHTJIOMOBHOI T'a3€TH).
2. Hammcatw crimcok He3HAHOMUX JJISl HBOTO CITIB Ta iX MepeKyal.
3. Hammcatu mUCbMOBHI MepeKIIaj] TEKCTY.
4.V 3a3HaueHMM TEpPMIH 3[aTU 3aBAaHHSA (QHTJIIMCBKUM TEKCT, CIHCOK
HE3HAHOMHUX CIIIB, Tepekiiaa) Bukiagady. CTyaeHT 000B’SI3KOBO IOBHHEH
BKa3aTH JHKEPEJI0, 3 SKOTO B3ATUH NIEPEKIaICHUIA TEKCT.

4. IMTAHHA 10 3AXOJ1B IOTOYHOTI'O, HIICYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTuy4Hi 3aBIaHHS JI0 MOJIYJIbHOI KOHTPOJIbHOI po6oT Moyt 3M-T11.

Module control work Ne 1

[2, c. 20 — 24], [3, c. 4 — 23]

I. Grammar Test (Uacu I'pynu Indefinite)
Put the right form of the verb:

1. You are a great cook! This cake (to taste) wonderful as usual. [2, c. 21 —22], [3,
c.4-13]

2. The students (to ask) not to be late for their classes. [2, c. 21-22, 32], [3,C. 4 —
13]

3. My father is sure bicycles (to use) as the most popular city transport in twenty
years' time. [2, c. 23, ¢. 32], [3, ¢. 19 — 23, c. 47 — 55]

4. It (to announce) in London that morning that the British Oil Corporation had
discovered oil under the sea near the Welsh coast. [2, c. 22 — 23, c. 32], [3,
c. 13-19]

5. A new hospital (to build) in our neighbourhood next spring. [2, c. 23 — 24,

c.32],[3,c. 1923, c. 47 — 55]

They (to finish) the work at the end of the week. [2, c. 23 — 24], [3, ¢. 19 — 23]

The accident (to happen) while they were driving on the highway. [2, c. 22], [3,

c. 13-19]

8. As long as | am head of this company, | (to handle) not all the business. [2,

c. 23], [3, c. 19 - 23]
9. The desire for fame (to make) men work hard and does not let them rest till the
goal is gained. [2, c. 21 — 22], [3, c. 4 — 13]

~N o
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10.Yesterday, when he (to open) the door, he (to understand) that he (to do) it with
awrong key. [2, c. 22 — 23], [3, c. 13— 19]

11.She (not to see) me when | (to come) into the room. [2, c. 22 — 23], [3, c. 13 —
19]

12.As a rule he (to translate) two articles a week. [2, c. 21 —22], [3, c. 4 — 13]

13.Why you (not to put) your coat on yesterday? [2, c. 22 — 23], [3, ¢. 13- 19]

14.He (to play) football every day. [2, c. 21 — 22], [3, c. 4 — 13]

15.Last year | (to take) by my parents to the South. [2, c. 22 — 23, c. 32], [3, c. 13 —
19, c. 47 — 55]

16.Tomorrow we (to pass) the examination. [2, c. 23-24], [3, c. 19 — 23]

17.He usually (to travel) by train. [2, c. 21 — 22], [3, c. 4 — 13]

18.He filled in his name, signed the contract and (to give) it to the secretary. [2,
c.22-23],[3,c. 13-19]

19.We (to stay) in that city twice in 2018. [2, ¢. 22 — 23], [3, ¢. 13 - 19]

20.How often does Nick go to the swimming pool? — He (to go) to the swimming
pool every day. He likes swimming. [2, c. 21 — 22], [3, c. 4 — 13]

21.After supper my sister (to go) for a walk. [2, c. 21 — 22], [3, c. 4 — 13]

22.Great Britain (to lie) in the eastern part of the Atlantic Ocean. [2, c. 21 —22], [3,
c.4-13]

23. The teacher (to explain) a new rule yesterday. [2, c. 22 — 23], [3, ¢. 13 — 19]

24.\We (to meet) them at the railway station tomorrow. [2, 23 — 24], [3, c. 19 — 23]

25.The sea (to surround) the British Isles. [2, c. 21 — 22], [3, ¢. 4 — 13]

26.Yesterday we (to write) a dictation. [2, c. 22 — 23], [3, ¢. 13 - 19]

27.She (to give) you a good advice next week. [2, 23 — 24], [3, ¢. 19 — 23]

28.The pupils of our form (to go) in for sport. [2, c. 21 —22], [3, ¢. 4 — 13]

29.The children (to spend) the whole day in the park. [2, c. 22 — 23], [3, c. 13 - 19]

30.They (to go) to Poland next month. [2, 23 — 24], [3, c. 19 — 23]

31.Many tourists (to come) to our town in summer. [2, ¢c. 21 —22], [3, ¢. 4 — 13]

32.We (to reach) the village before dark. [2, c. 22 — 23], [3, ¢. 13 - 19]

33.My brother (to be) on leave next spring. [2, 23 — 24], [3, ¢. 19 — 23]

34.He (to like) to write long letters. [2, ¢. 21 — 22], [3, c. 4 — 13]

35.The student (to pass) the examination successfully. [2, c. 22 — 23], [3, ¢. 13 —
19]

36.Tomorrow they (to be) far from here. [2, 23 — 24], [3, c. 19 — 23]

37.The Severn (to be) the longest river in Great Britain. [2, ¢. 21 — 22], [3, c. 4 —
13]

38.The pupils of our form (to go) to the museum last week. [2, c. 22 — 23], [3, c. 13
—19]

39.He (to go) to the post-office to wire to his mother tomorrow. [2, 23 — 24], [3,
c. 19-23]

40.Usually | (to clean) my room on Saturday. [2, c. 21 — 22], [3, ¢. 4 — 13]

41.1 (to go) to England last year. [2, c. 22 — 23], [3, c. 13 — 19]

24



42.1 (to give) her a valuable present to her next birthday. [2, 23 — 24], [3, c. 19 —
23]

43.Shakespeare's plays and poems (to be) the monument of a remarkable genius.
[2,c. 21 -22],[3,c. 4—-13]

44 We (to do) the work in time. [2, c. 22 — 23], [3, ¢. 13 - 19]

45.1t (to rain) hard in the afternoon tomorrow. [2, 23 — 24], [3, ¢. 19 — 23]

46.The sun (to rise) in the East. [2, c. 21 — 22], [3, ¢. 4 — 13]

47.She (to tell) us the truth. [2, c. 22 — 23], [3, c. 13 — 19]

48.You (to see) a beautiful park near the lake. [2, 23 — 24], [3, c. 19 — 23]

49.Water (to freeze) at zero. [2, c. 21— 22], [3, ¢c. 4 — 13]

50.1 (to speak) and write English perfectly. [2, c. 21 — 22], [3, ¢. 4 — 13]

51.1 (to be) glad to see you again. [2, 23 — 24], [3, ¢. 19 — 23]

52.1 (to hear) somebody's voice in the distance. [2, c. 21 —22], [3, ¢. 4 — 13]

53.My friend (to learn) Shakespeare's poem by heart. [2, c. 22 — 23], [3, ¢. 13 — 19]

54.She (not to clean) the flat in the evening. [2, 23 — 24], [3, c. 19 — 23]

55.The pupils (to write) dictations twice a week. [2, c. 21 — 22], [3, c. 4 — 13]

56. We (to work) in the garden two days ago. [2, ¢. 22 — 23], [3, ¢. 13 - 19]

57. (to plant) they a lot of trees in spring? [2, 23 — 24], [3, c. 19 — 23]

58. The librarian (to give) us interesting books and magazines every month. [2, c.
21-22],[3,c. 4-13]

59. There (to be) flowers in her hand. [2, c. 22 — 23], [3, ¢. 13 - 19]

60. At what time (to get up) you tomorrow? [2, 23 — 24], [3, c. 19 — 23]

[1, c. 13-14]
1. Fill the gaps:
Environmental Science

Environmental science is an 1) academic field that integrates
physical and biological sciences (including physics, chemistry, biology, soil
science, geology, and geography) to the study of the 2) , and the
solution of environmental problems. Environmental science provides an integrated,
quantitative, and interdisciplinary approach to the study of environmental 3)
Related areas of study include environmental studies and
environmental engineering. Environmental studies incorporate more of the social
sciences for 4) human relationships, perceptions and policies
towards the environment. Environmental engineering focuses on design and
technology for improving environmental quality. Environmental scientists work on
subjects like the understanding of earth processes, evaluating alternative energy
systems, pollution control and mitigation, natural resource management, and the
effects of global 5) . Environmental issues almost always include an
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interaction of physical, chemical, and biological 6) . Environmental
scientists bring a system 7) to the analysis of environmental
problems. Key elements of an effective environmental scientist include the ability
to relate space, and time relationships as well as quantitative 8)
Environmental science came alive as a substantive, active field of SC|ent|f|c
investigation in the 1960s and 1970s driven by a) the need for a multi-disciplinary
approach to analyze 9) environmental problems, b) the arrival of
substantive environmental laws 10) specific environmental protocols
of investigation and c) the growing public awareness of a need for action in
addressing environmental problems.

A) Analysis, B) systems, C) complex, D) approach, E) requiring, F) processes, G)
climate change, H) understanding, 1) interdisciplinary, J) environment.

4.2. 'paMaTryH1 3aBAAHHS 10 MOIYJIbHOI KOHTPOJIBHOI poO0oTH Moty 3M-I12.

Module control work Ne 2
[2, c. 24 -26], [3, c. 23 —30]
I. Grammar Test (Yacu I'pymu Continuous)

Put the right form of the verb:

1. I cut my finger when | (to peel) the potatoes. [2, c. 24 — 25], [3, c. 26 — 28]

2. Our flat (to paint) at the moment, so it doesn't look its best. [2, c. 24, c. 32], [3,
c. 23— 26, c. 47 -55]

3. When the Smiths came they (to convince) the whole hour that Paul himself had
broken the window at his house because he wanted to make them think that a
burglar had stolen his valuable stamp collection. [2, c. 24-25], [3, c. 26 — 28]

4. Where are you going? | (to speak) with you. [2, c. 24], [3 c. 23 — 26]

5. My brother will be absent. He (to prepare) for his exam at this time tomorrow.
[2, c. 25],[3 c. 28— 30]

6. Steven (to talk) with Ann when | saw them in the Central Park. [2, c. 24-25], [3,
C. 26 — 28]

7. He was getting the best care and treatment in the hospital, and he (to monitor)
night and day. [2, c. 24-25, c. 32], [3, c. 26 — 28, c. 47 — 55]

8. The new computer system (to install) at the moment. [2, c. 24-25, c. 32], [3,

c. 23— 26, c. 47 -55]

9. We can’t take the car: it (to repair) in the garage. [2, c. 24, c. 32], [3, c. 23 — 26,

C. 47 -55]
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10.Nowadays people (to blame) their circumstances for what they are. [2, c. 24-
25], [3 c. 23 — 26]

11.When | looked out of the window, I saw that it (to snow) and everything was
covered with snow. [2, c. 24-25], [3, c. 26 — 28]

12.Somebody (to talk) in the next room? — No, nobody (to talk). My son (to watch)
television now. [2, c. 24], [3 c. 23 — 26]

13.What he (to do) here? — He (to wait) for his friend. [2, c. 24], [3 c. 23 — 26]

14.They (to play) chess the whole evening. [2, c. 24-25], [3, c. 26 — 28]

15.At two o'clock tomorrow we (to take) our French lesson. [2, c. 25], [3, c. 28 —
30]

16.Yesterday | returned home at eight o' clock: it (to get) dark and (to rain) at the
time. [2, c. 24-25], [3, c. 26 — 28]

17.Tomorrow he still (to work) when | come home. [2, c. 25], [3, c. 28 — 30]

18.We are very busy now. We (to discuss) a very important question. [2, c. 24], [3
C. 23— 26]

19.She (to sit) in the armchair and (to read) an interesting book now. [2, c. 24], [3
C. 23— 26]

20.You (to work), when | phoned you last night? -Yes, | (to work). [2, c. 24-25],
[3, c. 26 — 28]

21.Where is Anna? She is in the library. She (to prepare) her report for tomorrow.
[2, c. 24-25], [3, c. 23 — 26]

22.1t (to be) raining hard now. [2, c. 24 — 25], [3, c. 23 — 26]

23.We (to be) passing our English examination at this time tomorrow. [2, . 25 —
26], [3, c. 28 —29]

24.Look! The bus (to come) up. [2, c. 24 — 25], [3, c. 23 — 26]

25.1 (to be) playing the violin when she came in. [2, c. 24-25], [3, c. 26 — 28]

26.She (to be) preparing dinner at 3 o'clock. [2, c. 25 — 26], [3, c. 28 — 30]

27.What (to do) the children now? [2, c. 24 — 25], [3, c. 23 — 26]

28.She (to be) writing a report in the library at that time. [2, c. 24-25], [3, c. 26 —
28]

29.1 (to be) cleaning my room when you come. [2, c. 25 — 26], [3, c. 28 — 30]

30.They (to speak) in the street now. [2, c. 24 — 25], [3, c. 23 — 26]

31.The doctor (to be) examining the patients at 10 o'clock yesterday. [2, c. 24-25],
[3, c. 26 — 28]

32.He (to be) taking a walk in the park at 10 o'clock. [2, c. 25 — 26], [3, c. 28 —29]

33.They (to play) football there now. [2, c. 24 — 25], [3, c. 23 — 26]

34.Their daughter (to be) going to be a nurse. [2, ¢. 24 — 25], [3, ¢. 23 — 26]

35.They (to be) flying to America at this time on Saturday. [2, c. 25 — 26], [3,
c. 28 -29]

36.Why she (to cry) now? [2, c. 24 — 25], [3, c. 23 — 26]

37.They (to be) talking about that day's weather. [2, c. 24-25], [3, c. 26 — 28]
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38.1 (to be) skating the whole day tomorrow. [2, c. 25 — 26], [3, c. 28 —30]

39.Where you (to go) now? [2, c. 24 — 25], [3, c. 23 — 26]

40.We (to be) preparing for the English examination the whole day. [2, c. 24-25],
[3, c. 26 — 28]

41.We (to be) working hard this time tomorrow. [2, c. 25 — 26], [3, c. 28 — 30]

42.(to be) you answering the teacher's questions now? [2, c. 24 — 25], [3, ¢. 23 -
26]

43.My brother (to speak) over the telephone when | came in. [2, c. 24-25], [3,
C. 26 — 28]

44.She (to be) taking a music lesson at 10 o'clock on Sunday. [2, c. 25 — 26], [3,
c. 28 —30]

45.(to be) your friends playing chess now? [2, c. 24 — 25], [3, ¢c. 23 — 26]

46.The mother (to be) knitting a pullover when her little son broke a new cup. [2,
C. 24-25], [3, c. 26 — 28]

47.They (to build) a new club when you are in the country in summer. [2, c. 25 —
26], [3, c. 28 — 30]

48.(to be) your father (to look) through the newspapers now? [2, c. 24 — 25], [3,
C. 23— 26]

49.(to be) you having tea when your parents came home from work? [2, c. 24-25],
[3, C. 26 — 28]

50.The boys (to play) football when you come home. [2, c. 25 — 26], [3, c. 28 —30]

51.(to be) the dog barking in the yard now? [2, c. 24 — 25], [3, c. 23 — 26]

52.(to be) you (to do) your home task when they came home? [2, c. 24-25], [3,
C. 26 — 28]

53.He (to ski) at 5 o'clock tomorrow. [2, c. 25 — 26], [3, c. 28 —30]

54.(to be) you doing your homework now? [2, c. 24 — 25], [3, c. 23 — 26]

55.What (to be) you doing when your parents came home from work? [2, c. 24 —
25], [3, c. 26 — 28]

56.What you (to do) at 10 a.m. tomorrow? [2, c. 25 — 26], [3, c. 28 —30]

57.(to be) the sun (to shine) in the sky? [2, c. 24 — 25], [3, c. 23 —26]

58.1t (to rain) at that time on Sunday. [2, c. 24-25], [3, c. 26 — 28]

59.What your friend (to do) when you come to him tomorrow? [2, c. 25 — 26], [3,
c. 28 -29]

60.(to be) you (to listen) to the radio now? [2, c. 24 — 25], [3, . 23 —26]

[6, c. 15]

I1. Fill the gaps:
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The cycle of biogenic elements and primary production in the principal types
of and ecosystems have been studied. It has been demonstrated that
1) volume of primary production on land is approximately double
that of the total production of the world ocean and that the productivity of tropical
forests is particularly high. The earth’s surface is photographed in the visible and

infrared regions of the spectrum from spacecraft in order 2) the
biomass reserves in terrestrial ecosystems. Research on the utilization of organic
matter synthesized by autotrophs has shown that on land only 3) of

organic matter is used directly by herbivorous animals, while the bulk of it, in the
form of dead plant tissue, is consumed by saprophagous and saprophytic
organisms. In addition to feeding links, other links exist between organisms in
ecosystems, particularly those involving metabolic products released by organisms
into the 4) . They are being actively studied in both terrestrial and 5)
ecosystems.

The study of the biosphere as a whole is particularly important,
6) the determination of primary production and decomposition
worldwide and the 7) of biogenic elements. These problems can only
8) through the concerted efforts of scientists from various countries.

9) of the phenomena studied by modern ecology explains its
extensive ties with numerous natural and humanistic sciences. Population ecology
10) genetics, physiology, ethology, biogeography, taxonomy, and
demography.

A) Global cycle, B) environment, C) involves, D) a small portion, E) the total,
F) to evaluate, G) be solved, H) the diversity, I) aquatic, J) including

4.3. 'pamMaTuyHi 3aBJAaHHS 10 MOIYJIHHOI KOHTPOJIBHOI poOoTH Moty 3M-I13.

Module control work Ne3

[2, c. 26 — 28], [3, ¢. 30 — 40]

I. Grammar Test (Yacu I'pynu Perfect)
Put the right form of the verb:

1. Next month I (to know) Rick for twenty years. [2, ¢c. 27-28], [3, c. 38 —40]
2. Alan and Chloe are both down with the flu. Thank God I (not to caught) it from
them. [2, c. 26-27], [3, c. 30 — 35]
3. After they (to enter) the church, they stood quietly for a moment, adjusting their
eyes to the dim light. [2, c. 27], [3, c. 35 — 38]
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4. By the time we got to the shopping center it (to close). [2, c. 27, c. 32], [3,
c. 35— 38, c. 47-55]

5. Don’t worry! By the time we meet again, all your problems (to solve). [2, c. 27-
28, 32], [3, c. 30 — 35, c. 47-55]

6. A machine (to invent) which will make you invisible for 48 hours. How would
you want to spend these two days? [2, c. 26-27, c. 32], [3, c. 38 — 40, c. 47-55]

7. You are a human dynamo, | (to see) never you waste a minute. [2, c. 26 — 27],
[3, c. 30 — 35]

8. The tourists hope that the tornado (to finish) before they arrive in California. [2,
c. 27-28], [3, c. 38 —40]

9. When | came back home, my family (to have) already had dinner and were now
watching the film. [2, c. 27], [3, c. 35 — 38]

10.The 10.30 flight to Greece (to delay). [2, c. 26-27, 32], [3, c. 30 — 35, c. 47-55]

11.The waiter served the food, which (to cook) by the best chef in Paris. [2, c. 27,
32], [3, ¢. 35— 38, c. 47-55]

12.1 hope that the report (to write) by 5 o’clock tomorrow. [2, ¢c. 27-28, c. 32], [3,
c. 38 —40, c. 47-55]

13.You (to do) your homework by seven o’clock? [2, c. 27-28], [3, c. 38 — 40]

14.Helen got off the bus and walked into the bank when she realized that she (to
leave) her handbag on the bus. [2, c. 27], [3, c. 35 — 38]

15.1 (to be) to London this year. [2, c. 26-27], [3, c. 30 — 35]

16.They (not to finish) their work yet. [2, c. 26-27], [3, c. 30 — 35]

17.Your mother already (to come)? [2, c. 26-27], [3, c. 30 — 35]

18.When she got to the shop, it (to close). [2, c. 27], [3, ¢. 35 — 38, ¢. 47-55]

19.Nick (return) from office by seven o'clock. [2, c. 27], [3, ¢c. 35 — 38]

20.We (to build) a new house by the end of the year. [2, c. 27-28], [3, c. 38 — 40]

21.She (to do) already the work. [2, c. 26 — 27], [3, c. 30 — 35]

22.1 had to buy a new pen because | (to lose) the old one. [2, c. 27], [3, c. 35 — 38]

23.He (to pass) his examinations before you return from Kyiv. [2, ¢. 30 — 31], [3,
c. 38 — 40]

24.The postman (to bring) us two letters from our relatives. [2, ¢c. 26 — 27], [3,

c. 30 — 35]
25.The last electric train (to go) when we got to the station. [2, c. 27], [3, ¢c. 35—
38]

26.The expedition (to leave) for the North by April. [2, ¢. 30 — 31], [3, c. 38 — 40]

27.1 (to wash) just the dishes. [2, c. 26 — 27], [3, ¢. 30 — 35]

28.After | (to leave) for work | remembered that I (to forget) to ring you up. [2,
c. 27], [3, c. 35— 38]

29.1 (to give) the final answer by three o'clock. [2, ¢. 30 — 31], [3, c. 38 — 40]

30.We (to write) a long dictation. [2, c. 26 — 27], [3, ¢. 30 — 35]
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31.We (to collect) our things and got into the bus before it started raining. [2,
c. 27],[3, c. 35— 38]

32.She (to look) up the new words in the dictionary before you come. [2, c. 30 —
31], [3, c. 38 — 40]

33.Ann (to leave) just the house. [2, c. 26 — 27], [3, ¢. 30 — 35]

34.What you (to do) before you left the house? [2, c. 27], [3, c. 35 — 38]

35.We (to leave) the Institute by five o'clock tomorrow. [2, ¢. 30 — 31], [3, c. 38 —
40]

36.The children (to clean) already the room. [2, c. 26 — 27], [3, c. 30 — 35]

37.By what time you (to do) your homework yesterday? [2, c. 27], [3, ¢. 35 — 38]

38.1 (to return) the book to the library by this time on Sunday. [2, ¢. 30 — 31], [3, c.
38 —40]

39.1 (to show) him my collection of stamps. [2, c. 26 — 27], [3, ¢. 30 — 35]

40.What did you do after you (to do) your homework? [2, c. 27], [3, c. 35 — 38]

41.The girls (to do) the room before their mother comes home. [2, c. 30 — 31], [3,
c. 38 —40]

42.The teacher (to open) the window to air the room. [2, c. 26 — 27], [3, ¢. 30 — 35]

43.What you (to do) before you went to bed? [2, c. 27], [3, c. 35 — 38]

44.My elder brother (to translate) the text by 10 o'clock. [2, c. 30 — 31], [3, c. 38 —
40]

45.The mother (not to prepare) breakfast yet. [2, c. 26 — 27], [3, c. 30 — 35]

46.Where you (to live) before your family moved to this place? [2, c. 27], [3,
c. 35— 38]

47.We (to prepare) supper before you come from work. [2, c. 30 — 31], [3, c. 38 —
40]

48.1 (not to do) my home task yet. [2, c. 26 — 27], [3, c. 30 — 35]

49.Last week we discussed the performance which we (to see) at our drama
theatre. [2, c. 27], [3, c. 35 - 38]

50.1 (to write) the report by this time tomorrow. [2, ¢. 30 — 31], [3, c. 38 — 40]

51.Ann (not to be) to Kyiv yet. [2, ¢c. 26 — 27], [3, ¢. 30 — 35]

52.The mother (to prepare) dinner by 3 o'clock. [2, c. 27], [3, ¢. 35 — 38]

53.The pupils of our form (to pass) the exam in English by 12 o'clock. [2, c. 30 —
31], [3, c. 38 — 40]

54.She (not to learn) this poem by heart yet. [2, ¢. 26 — 27], [3, ¢. 30 — 35]

55.My friend told me a lot of interesting he (to see) in London. [2, c. 27], [3,
c. 35-38]

56.The teacher (to check) up our tests by that time. [2, c. 30 — 31], [3, c. 38 — 40]

57.1 (not to finish) my work yet. [2, ¢c. 26 — 27], [3, c. 30 — 35]

58.She showed me the new dress she (to sew) herself. [2, c. 27], [3, c. 35 — 38]

59.The expedition (to leave) for the South by September. [2, c. 30 — 31], [3, c. 38 —
340]
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60.She (to write) the test already. [2, c. 26 — 27], [3, ¢. 30 — 35]

[6, c. 17]
1. Fill the gaps:

Nitrogen is also required by all organisms but cannot be used by most in the
gaseous form. Nitrogen fixation, the conversion of N2 gas into a biologically 1)
, occurs in some species of bacteria and cyanobacteria or may be
caused by lightning.

Atmospheric gases are important in 2) the climate and the
light environment. Absorption of electromagnetic radiation by the atmosphere
determines the spectrum of light reaching the Earth's surface. Absorption and
reflectance of infrared radiation by 3) such as C02 and water vapor
regulate temperature.

Among other environmental factors determining the range and distribution
and form of organisms are mechanical stimuli such as wind or water
4) , and the presence of metals, inorganic nutrients, and toxins in the
air, soil, or food.

The biotic environment of an individual is 5) of members of
the same or other species. Intraspecific interactions involve the need to breed with
other individuals, to gain protection through living in a group, and to compete for
6) such as food, light, nutrients, and space.

Humans alter their environment in ways that exceed the impact of all other
organisms. For example, the 7) of greenhouse gases into the
atmosphere contributes to 8) over the entire planet. This in turn has
impacts on the distribution of all other species. The release of pollutants into the
environment brings organisms into contact with stresses to which they were not 9)
exposed. This the evolution of new varieties, eventually perhaps new
10) , adapted to the polluted environments.

A) Greenhouse gases, B) previously, C) resources, D) made up, E) movement,
F) species, G) determining, H) release, I) useful form, J) climate alterations.

4.4. 'paMaTryH1 3aBAAHHS 10 MOIYJIBHOI KOHTPOJIBHOI poO0oTH Moyt 3M-114.

Module control work Ne4
[2, c. 24 -26], [3, c. 40 — 44]
I. Grammar Test (Uacu I'pymu Perfect Continuous)
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Put the right form of the verb:

1. A fine rain (to fall) steadily since six o’clock and there is a dark mist on the
river. [2, c. 28-30], [3, c. 40 — 43]

2. Andrew, who is English, (to live) in New York for seven years when we met.
[2, c. 30], [3, c. 43 — 44]

3. He said that he (to wait) his article for 3 days when I arrived. [2, c. 30], [3,
c. 43 —44]

4. He said that he (to write) a letter for 2 hours when | came. [2, c. 30], [3,
C. 43 —44]

5. Emma, who (to listen) attentively, knew with absolute certainty that he was
speaking the truth. [2, c. 30], [3, c. 43 — 44]

6. Next year | (to live) in Kyiv for thirty years. [2, c. 30-31]

7. She (choose) some dairy products: butter, cheese, milk and cream for 20
minutes. [2, c. 28-30], [3, c. 40 — 43]

8. A surgeon felt tired because he (to work) hard all day. [2, c. 30], [3, c. 43 —
44]

9. My father (to work) at this theatre for twenty years by 2021. [2, c. 30-31]

10.My mother (to read) a cookbook for a month. [2, c. 28-30], [3, c. 40 — 43]

11.1 (to wait) for a bus for half an hour before it arrived. [2, c. 30], [3, c. 43—
44]

12.She (to wait) for this comedy for a month before it is on the repertoire of the
theatre. [2, c. 30-31]

13.A chemist (to make) a medicine for an hour before it was ready. [2, c. 30], [3,
C. 43 —44]

14.We (to talk) about fruits, which are sold at the greengrocery shop for 15
minutes. [2, c. 28-30], [3, c. 40 — 43]

15.At the market my mother (to choose) potatoes, carrots, beetroots, onion,
tomatoes, cucumbers and cabbage for an hour. [2, c. 28-30], [3, c. 40 — 43]

16.His father (to work) at this hospital for 25 years before he retired. [2, c. 30],
[3, C. 43 — 44]

17.1 (to work) on this report about our famous actors for two hours before my
sister comes. [2, ¢. 30-31]

18.We (to play) tennis for three hours already yesterday when it started raining.
[2, c. 30], [3, c. 43 — 44]

19.Tom (to read) books about the theatre for several years before he becomes an
expert. [2, c. 30-31]

20.1 (to look for) this journal since the very morning. [2, c. 28 — 30], [3, c. 40 —
43]

21.She (to write) a composition for an hour already. [2, c. 28 — 30], [3, c. 40 —
43]
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22.The young man (to work) at the laboratory for two years before he decided to
enter the University. [2, c. 30], [3, c. 43 — 44]

23.How long your sister (to study) at school? [2, c. 28 — 30], [3, c. 40 — 43]

24.1 (to read) an interesting book since | returned home. [2, c. 28 — 30], [3,
c. 40-43]

25.We (to pack) up our things for two hours when it was time to go to the
railway station. [2, c. 30], [3, c. 43 — 44]

26.How long you (to do) these exercises? [2, c. 28 — 30], [3, c. 40 — 43]

27.My brother (to work) at English translation since the very morning. [2,
c. 28 -30], [3, c. 40 — 43]

28.The scientist (to work) at the experiment for about a year before the problem
was solved. [2, c. 30], [3, c. 43 — 44]

29.1t (to rain) since the very morning? [2, c. 28 — 30], [3, c. 40 — 43]

30.He (to suffer) from a headache all day long. [2, c. 28 — 30], [3, c. 40 — 43]

31.They (to sail) for about a month when they saw a small island. [2, c. 30], [3,
c. 43 — 44]

32.Have (to live) in this town for 5 years? [2, c. 28 — 30], [3, c. 40 — 43]

33.We (to gather) mushrooms ever since sunrise. [2, ¢. 28 — 30], [3, c. 40 — 43]

34.1t (to snow) all day when I left home. [2, c. 30], [3, c. 43 — 44]

35.1 (to translate) this difficult article for two hours before you come. [2, c. 30 —
31]

36.1 (to listen) to the music since 5 o'clock. [2, ¢. 28 — 30], [3, c. 40 — 43]

37.1 (to dust) the room for half an hour when my mother came home. [2, c. 30],
[3, C. 43 — 44]

38.He (to skate) with his friends for more than an hour before his parents come
home. [2, c. 30 — 31]

39.My friend (to train) his dog for 3 years already. [2, c. 28 — 30], [3, c. 40 — 43]

40.She (to wait) for forty minutes before the taxi came. [2, c. 30], [3, c. 43 — 44]

41.They (to listen) to the music for some time when you ring them up. [2, c. 30
—31]

42.The gardener (to sort) the apples since morning. [2, c. 28 — 30], [3, c. 40 —
43]

43.The girl (to listen) to the music for two hours before her brother brought her
an interesting book from the library. [2, c. 30], [3, c. 43 — 44]

44.\We (to travel) by sea for several weeks before you join us. [2, ¢. 30 — 31]

45.The children (to play) football since the mother came home. [2, c. 28 — 30],
[3, c. 40 —43]

46.What she (to do) for two hours when her friend came to her? [2, c. 30], [3,
c. 43 - 44]

47.The young man (to make) the plan of the journey for some hours by 6 o'clock
in the evening. [2, c. 30], [3, c. 43 — 44]

48.My elder brother (to play) football since the childhood. [2, c. 28 — 30], [3,
c. 40 - 43]
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49.She (to read) a book for an hour before her mother came home. [2, c. 30], [3,
C. 43 —44]

50.She (to listen) to the music for 40 minutes before her brother comes home
from school. [2, c. 30 — 31]

51.The boy (to do) his homework for 2 hours already. [2, c. 28 — 30], [3, c. 40 —
43]

52.How long you (to learn) English? [2, c. 28 — 30], [3, c. 40 — 43]

53.She (to listen) to the music for some time by 12 o'clock. [2, c. 30 — 31]

54.The pupils (to write) a dictation for 40 minutes. [2, c. 28 — 30], [3, c. 40 — 43]

55.How long you (to read) this book? [2, c. 28 — 30], [3, c. 40 — 43]

56.0ur family (to live) in this house for 10 years. [2, c. 30 — 31]

57.My mother (to prepare) dinner since 11 o'clock. [2, c. 28 — 30], [3, c. 40 — 43]

58.Do you play chess? How long you (to play) it? [2, c. 28 — 30], [3, c. 40 — 43]

59.They (to build) this bridge by the end of the year. [2, c. 30 — 31]

60.The girls (to watch) TV since they came home. [2, c. 28 — 30], [3, c. 40 — 43]

[6, c. 16]
1. Fill the gaps:

Environment is 1) of all external factors, both biotic (living)
and abiotic (non-living), to which an organism is exposed. Biotic factors include
influences by members of the same and other species on 2) and

survival of the individual. Primary abiotic factors are light, temperature, water,
atmospheric gases, md ionizing radiation, influencing the form and
3) of the individual.

For 4) environmental factor, an organism has a tolerance
range, in which it is able to survive. The intercept of these ranges constitutes the
ecological niche of the organism. Different individuals or species have different
tolerance ranges for particular environmental factors - this variation
5) the adaptation of the organism to its environment. The ability of
an organism to modify its tolerance of certain environmental factors in response to
a change in them represents 6) of that organism.

The spectrum of electromagnetic radiation reaching the Earth's surface is
determined by the absorptive 7) of the atmosphere. Biologically, the
most important spectral range is 300-800 nanometers, incorporating ultraviolet,
visible, and infrared radiation. Visible light provides the energy source for most
forms of life. Light absorbed by pigment molecules (chlorophylls and carotenoids)

IS converted into chemical energy through 8) . Light availability is
especially important in determining the distribution of plants. Photosynthetic
organisms can 9) within a wide range of light intensities. Full

sunlight in the tropics is around 2000 photons. Photosynthetic organisms have
survived in 10) ¢ where the mean light is as low as 0.005% of this value.
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A) The plasticity, B) represents, C) the sum, D) photosynthesis, E) exist, F) each,
G) the development, H) locations, I) function, J) properties

4.5. TectoBi 3aB1aHHSI 10 32J1iKOBOI KOHTPOJILHOI pO0OTH.

[2, c. 20 — 32, 61], [6, c. 10 — 66]

Credit test

1 term

Open the brackets, using the verb in the right tense form:

1. By next morning, the snow that began in the night (to turn) into a blizzard so
thick that the last class of the term was cancelled. [2, c. 27]

2. Most companies (to limit) severely their dumping of pollutants. [2, c. 23]
3. If you are successful, people (to forgive) you practically everything. [2, c. 23]
4. Customers (to advise) to buy their tickets in advance. [2, c. 21-22, 32]

5. When they got to their dacha, they discovered that water (to leak) through the
roof. There were pools on the floor. [2, c. 30]

6. On a clear day, you (to see) the shores of Haiti and Cuba from the summit of
Blue Mountain Peak. [2, c. 23]

7. | placed the tray in the middle of the kitchen table and (to begin) to methodically
chop an egg. [2, c. 22-23]

8. Will you (to arrange) everything by tomorrow? [2, c. 27-28]

9. English people say that you (to hang) the horseshoe with its ends up, lest good
luck should fall out. [2, c. 21-22]
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10. We (to run) out of sugar. Ask Mrs. Smith to lend us some. [2, c. 26-27]

11. Will you (to use) till the computer when | come back to the office after lunch?
[2, c. 25]

12. This event (not to forget) very quickly. [2, c. 23, 32]
13. Many new houses (to build) in our town nowadays. [2, c. 24-25, 32]
14. The guard noticed at once that the safe (to break). [2, c. 27, 32]

15. When Ann turned on the television, the weatherman (to give) the weekend
forecast for Europe. [2, c. 24-25]

16. The new tax (to introduce) last year, but the Parliament boycotted. [2, c. 27, 32]

17. She knew that with Frank in Venice, for a few days she (to shake) his
depression, and recharge his batteries completely. [2, c. 61-62]

18. Have you made any change in your life recently? What (to do) since that
change took place? [2, c. 28-30]

19. The votes (to count) by midnight? [2, c. 27-28, 32]

20. We were told that the teacher (to correct) our papers by the beginning of the
lesson. [2, c. 61]

21. The quietness of the house (to break) by the children’s driving their toy cars on
the floor. [2, c. 27, 32]

22. By the time the manager turns up, the customers (to wait) for him for several
hours. [2, c. 30-31]

23. He didn’t know where he (to take) at the moment. [2, c. 24-25, 32]

24. There was a fair in our little town and we put on red silk robes and painted our
faces red. | (to tell) people’s fortunes. [2, C. 22-23]

25. The new manager (to entrust) with a most difficult task. [2, c. 22-23, 32]
26. Wisdom (to come) with age. [2, c. 21-22]

27. The lost children just (to find) in the park. [2, c. 26-27, 32]
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28. You (to look) so very healthy at the moment. [2, c. 24-25]

29. On Sunday morning, after she (to drink) a quick cup of coffee, Vanessa dialed
the Commaodore Hotel. [2, c. 27]

30. — Can | let you in on a little secret? — Why not? You (to tell) me your secrets
since you were eight. [2, c. 29-30]

31. Let us wait till the fax (to arrive). [2, c. 24-25]
32. | remembered that you (to promise) me to come in time. [2, c. 27]

33. For a second she (to hesitate) as if she were taking the last chance to refuse. [2,
C. 22-23]

34. 1 (to leave) some money in order to help them. [2, c. 23]

35. Two-piece swimsuits (to name) after a Pacific atoll on which hydrogen bombs
were detonated — a truly explosive and figurative word. [2, c. 21-22, 32]

36. | promised Emma | (to help) her to decorate the fur-tree. [2, c. 61]
37. Andrew feels all right now. He (to operate) on a month ago. [2, c. 22-23, 32]
38. When he is forty, he (to learn) English for twenty five years. [2, c. 30-31]

39. The noise was caused by a dog, which (to chase) a cat through the garden. [2,
C. 24-25]

40. These data (to collect) by the end of the year. [2, c. 27-28, 32]
41. Yesterday | (to return) home late in the evening. [2, c. 22-23]
42. Nik already (to get) ticket for the concert? [2, c. 26-27]

43. What your farther (to do) at the moment? [2, c. 24]

44. She (to be) a typist for our firm since 2015 and she (to work) here for three
years. [2, c. 28-30]

45. | (to graduate) from the university five years ago. [2, c. 22-23]

46. She (to phone) you today in the morning. [2, c. 26-27]
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47. When he (to get) to the station last week the train already to leave. [2, c. 22-23,
c. 27]

48. Look! He (to try) to find his watch. [2, c. 24]

49. My sister just (to make) some sandwiches. [2, c. 26-27]

50. You ever (to be) to Iceland? [2, c. 26-27]

51. I don’t know where my sister (to be) now. [2, ¢. 21-22]

52. Maybe she (to sit) in the garden now. [2, c. 24-25]

53. Don’t tease the dog! It (to bite) you. [2, c. 23]

54. | think the weather (to be) fine tomorrow. [2, c. 23]

55. Look at this child. He (to notice) everything immediately. [2, c. 24-25]

56. She will give him your message tomorrow as soon as she (to see) him. [2, c.
23]

57. 1 met them when they (to run) round the park. [2, c. 24-25]
58. It is dark now. The sun not to rise yet. [2, C. 26-27]

59. The day before yesterday he told me that he (not to come) home by seven
o’clock on Sunday. [2, c. 27]

60. What you (to achieve) by the year 2025. [2, c. 27-28]

61. Look the emergency services (to remove) the sand which oil (to cover). [2,
C. 24-25, c. 26-27]

62. After he (to work) for ten hours, he came home and fell asleep. [2, c. 30]
63. You (not to read) my project yet? [2, c. 26]

64. In three years , his parents (to be married) for twenty years. [2, c. 28-30]
65. The number of cars (to rise) by fifty-eight per cent since 1973. [2, c. 26-27]

66. We are glad to know that our relatives (to arrive) by the New Year. [2, c. 27-
28]
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67.

My friend asked me to explain him a new rule because he (not to understand)

it. [2, ¢. 27]

68.

69.

70.

71.

72,

73.

74,

75.

76.

77.

78.

79.

80.

Why my things (not to back) pack yesterday. [2, c. 22-23, c. 32-33]

The equipment just (to deliver). [2, c. 26-27, c. 32-33]

Our cafe (to visit) by a lot of people. [2, ¢c. 21-22, c. 32-33]

This poem (to learn) by heart by me. [2, c. 24-25, c. 32-33]

His adventures (to describe) in his book. [2, c. 22-23, c. 32-33]

His decisions always (to approve) by her. [2, c. 21-22, c. 32-33]

He said his wallet (to steal) by somebody. [2, c. 27, c. 32-33]

The newspaper (to publish) at the moment. [2, c. 24-25, c. 32-33]

The agreement (to reach) by them tomorrow. [2, c. 27-28, c. 32-33]

The bicycle (to repair) by my farther at 7 o’clock. [2, ¢. 24-25, c. 32-33]
The dog already (to take) for a walk. [2, c. 26-27, c. 32-33]

All the books (to leave) at home by me yesterday. [2, c. 26-27, ¢. 32-33]

His honesty (to acknowledge) by all. [2, c. 22-23, c. 32-33].
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Il cemecTp

2. MIPOI'PAMA HABYAJIbHOI JTUCHUILJITHU

2.2. Ilpaktuuni moaydi |l cemectpy

Kon HazBa Mmoxysst Ta Tem KinbKicTs rofs
aynutopHi | CPC
3M- 125| 16,67
5 |1 a) “The manager”, “Critical skills related to |2 5 25
managerial competence”.
b) ITepexman Tekcry 3a haxom (4000 ap. 3HAKIB)
c) [lepeknaa cycniabHO-TIOMITUYHOTO TeKCTy (4 2,5 3,5
000 zp. 3HaKiB) 2,5 3,67
d) Grammar: The Infinitive
4 3
2. MopaynbpHa KOHTpOJIbHA poboTa Ne 5
1 4
3M- 125| 16,67
I16 | 1. a) “The role of economics in environmental 2,5 2,5
management”, “The fundamental model of
economic activity. The circular flow model”.
b) Ilepexnan Tekcry 3a paxom (3000 ap. 3HAKIB) 2,5 3,5
c) Ilepexmnan cycniibHO-MIOITHYHOTO TEKCTY (4 2,5 3,67
000 mp. 3HaKIB)
d) Grammar: The Gerund 4 3
2. MoaynpHa KOHTpoJbHA poboTa No 6 1 4
3M- 12,5| 16,65
I17 | 1. a) “Fundamental concepts in environmental 2,5 2,5
economics”, “ldentifying the scope of
environment damage: local, regional, and
global pollution”. 2,5 3,5
b) Ilepexmnan Tekcry 3a paxom (3000 ap. 3HAKIB) 2,5 3,65
¢) [lepeknan cycniibHO-MOMITUYHOTO TEKCTY
(4000 mp. 3HaKiIB) 4 3
d) Grammar: The Participle
1 4
2. MoaynwHa KOHTpoJibHA poOoTa No 7
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3M- 12,5| 16,67
I18 | 1. a) “The role of environmental management in 2,5 2,5
transition to steady development (part 1)”, “The
role of environmental management in
transition to steady development (Part 2)”. 2,5 3,5
b) Ilepekian Tekcty 3a paxom (3000 ap. 3HAKIB) 2,5 3,67
¢) Ilepexman cycninbHO-TIOITHYHOTO TEKCTY
(4000 mp. 3HAKIB) 4 3
d) Grammar: The Conditional Sentences
1 4
2. MoaynpHa KOHTpOoJbHA poboTa No 8
3M- 12,5| 16,67
I19 | 1. a) “Environmental policy planning: an overview”, | 2,5 2,5
“Government’s overall policy approach”.
b) Ilepexnan Tekcry 3a paxom (3000 ap. 3HAKIB)
¢) Ilepexian cycnibHO-TIOIITUHYHOTO TEKCTY 2,5 3,5
(4000 mp. 3HAKIB) 2,5 3,67
d) Grammar: Indirect speech
4 3
2. MopaynpHa KOHTpOJbHA poboTa Ne 9
1 4
3M- 12,5| 16,67
I110 | 1. a) “Environmental strategy and competitive 2,5 2,5
advantage (Part 1), “Environmental strategy
and competitive advantage (Part 2)”. 2,5 3,5
b) Ilepexnan Tekcry 3a paxom (3000 ap. 3HAKIB) 2,5 3,67
¢) Ilepexmnan cycniibHO-MOITHYHOTO TEKCTY
(4000 nmp. 3HAKIB) 4 3
d) Grammar: Subjunctive mood. Revision.
1 4
2. MonynbHa KoHTposibHA poboTta Ne 10
Icrmur 20
75 120
Pazowm:
Koncynpranii:

Kynenina Onbra FOpiiBHa, cT. Bukiiagad, BieTopok 9.00 — 13.00, aynutopis
607.

2.3. CamocrTiiiHa poboTa cTyieHTa Ta KOHTpOoJibHI 3axoau y |l cemecTpi
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Kon . KinekicTh Ctpok
3aBnanns Ha CPC Ta KOHTPOJIBHI 3aX0I1
MOIYJIS TOJIMH | IPOBEACHHS
3M-II5 16,67 1-3
TUXKACHb
o [limroToBKa 10 YCHOTO OMUTYBaHHS, 11,67 1 TwxneHp
MiATOTOBKA TPaMaTUYHOI TEMH Ta T1ATOTOBKA
JIOMAIITHHOTO YUTAHHS
o [limroToBKa 10 BUKOHAHHS MOJYJIbHOI 5 2 THKJIEHD
KOHTPOJIbHOI po60TH Ne 5 (060B’s13K0BE)
Konmponwni 3axoou:
o YCHe onuTyBaHHS 2 TUXKICHb
e [IepeBipka MMCHMOBO BUKOHAHUX CITUCKIB 3 THKJICHb
HE3HAMOMHUX CJIIB Ta iX MepeKiaj jIsl YCHOTO
nepeKsIaay TeKCTIB
o [lepeBipka MUCbMOBO BUKOHAHUX 3 TWXKIEHb
rpaMaTUYHUX BIIPaB
e MonynbHa KOHTpOJIbHA poOoTa Ne 5 3 THXKICHD
3M-I16 16,67 3-5
THXICHD
o [lixroTOBKA 10 YCHOTO OMUTYBaHHS, 11,67 | 3 TuxIEHDb
MIArOTOBKA rPaMaTUYHOI TEMHU Ta MIArOTOBKA
JIOMAIITHHOTO YUTAHHS
e [lifroTOBKA 10 BUKOHAHHS MOIYJIBHO1 5 4 TWXIeHb
KOHTPOJBHOT po6oTH Ne 6 (060B’A3K0BE)
Konmponwhi 3axoou:
o YCcHe onuTyBaHHS 4 TIXIIEeHb
o [lepeBipka MMCHbMOBO BUKOHAHUX CIIHCKIB S TWXKIEHB
HE3HAMOMHUX CJIIB Ta iX MepeKa JIsl YCHOTO
NepeKIaay TEKCTIB
o [lepeBipka MMCbMOBO BUKOHAHHUX S TUXKIEHb
rpaMaTHYHUX BIIPaB
e MopaynbHa KOHTpOJIbHA po6oTa Ne 6 S THXKJICHb
3M-IT7 16,67 6-8
TUXKICHB
e [liroToBKa 10 YCHOTO ONMUTYBaHHS, 11,67 6 TIOKIEHD
MIJTOTOBKA IpaMaTUYHO1 TEMHU Ta IMArOTOBKA
JIOMAIITHHOTO YUTAHHS
* [linroTOBKA O BUKOHAHHS MOIYJIHHOL 5 { THKIEHD
KOHTPOJIbHOT poO6oTH Ne 7 (060B’SI3K0OBE)
Konmponwhi 3axoou:
o YCHE ONIMTYBaHHS 7 THXKICHD
o [lepeBipka MMCbMOBO BUKOHAHUX CIIHUCKIB 8 TWXKIEHb

HE3HAHOMUX CJIIB Ta iX MepeKJIaj AJisl YCHOTO
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nepeKIiaay TeKCTIB

o [lepeBipka MMCHbMOBO BUKOHAHUX 8 THXKIeHb
rpaMaTUYHUX BIIPaB
e MosynbHa KOHTpOJIbHA pob6oTa Ne 7 8 THXKIeHb
3M-I18 16,67 8-10
TIDKJICHD
e [lifroTOBKA 10 YCHOTO ONMUTYBaHHS, 11,67 8 TIDKIEHD
M1JrOTOBKA IpaMaTUYHO1 TEMHU Ta IMiATOTOBKA
JTOMAIITHLOTO YNTAHHS
* [ligroToBKa 10 BUKOHAHHS MOYJIbHOL 5 9 TIDKIEHD
KOHTPOJIbHOT poO6oTH Ne 8 (060B’A3K0BE)
Konmponwvni 3axoou:
e YCHE OIUTYBaHHS 9 TIDKIEHD
« [lepeBipka NMCHbMOBO BUKOHAHUX CITUCKIB 10 THKICHB
HE3HAMOMHUX CJIIB Ta iX MepeKiaa Jjisl yCHOTro
NepeKIaay TEKCTIB
° HepeBipKa IIMCBbMOBO BUKOHAHHUX 10 TUKIICHB
rpaMaTUYHUX BIIPaB
e MoynbHa KOHTpOJIbHA poOoTa Ne 8 10 TIXIEHD
3M-I19 16,67 11 -13
TIKJICHD
e [linroTOBKA 10 YCHOTO OMUTYBaHHS, 11,67 | 11 twxnens
M1TOTOBKA IpaMaTUYHO1 TEMHU Ta IMiArOTOBKA
JOMAIIIHLOTO YHTAHHS
* [ligroToBKa 0 BUKOHAHHS MOYJIBHOL 5 12 THXICHD
KOHTPOJIbHOT poOoTu Ne 9 (060B’a3K0BE)
Konmponwvni 3axoou:
e YCHE ONIUTYBaHHA 12 TYKIEHb
e [lepeBipka NMCHbMOBO BUKOHAHUX CITUCKIB 13 THKICHB
HE3HAMOMHUX CJIIB Ta iX MepeKsiaa Jjisl yCHOTro
NepeKIaay TEKCTIB
o [lepeBipka MICHBMOBO BUKOHAHHX 13 THKIEHD
rpaMaTHYHUX BIIPaB
MopynbHa KOHTpOJibHA po6oTa Ne 9 13 TIKIEHD
3M- 16,67 13-15
1110 THKJIEHb
o [linroToBKa 10 YCHOTO OMUTYBaHHS, 11,67 | 13 twxnens
IMIITOTOBKA TPaMaTHYHOI TEMH Ta MiATOTOBKA
JIOMAIIIHBLOT'O YATAHHS
* [ligroToBKa 10 BUKOHAHHS MOYJILHOL 5 14 THXKICHD

KOHTpOJIbHOT po6oTH Ne 10 (000B’s13K0BE)
Koumponwvni 3axoou:
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e YCHE ONIUTYBaHHA

o [lepeBipka MMCbMOBO BUKOHAHUX CIIHUCKIB
HE3HAMOMUX CJIIB Ta iX MepeKa Il YCHOTO
nepexsiaay TeKCTIB

o [lepeBipka MUCbMOBO BUKOHAHHUX
rpaMaTUYHUX BIIPaB
MonynpHa KOHTpOIbHA poboTa Ne 10

14 T neHs
15 Tk neHs

15 TixneHs

15 THXKIeHb

[linroToBKa /10 ICIIUTY 20 Cecia
Konmponwvni 3axoou:
e IciuT
Pazom: 120

1. MeToauKa NPOBEACHHS Ta OIIHIOBAHHSA KOHTPOJLHOI0 3axoay jias 3M-II5.

MiHiMaabHUH 00CcAT 0a30BUX 3HAHD, 1110 HEOOX1AHUH I 3acBoeHHS 3M — I15:
— 4YHUTaTH, MepeKiiafaT Ta rnepekasdyBaTu TekcTtu “The manager”, “Critical

skills related to managerial competence”;

— BH3HAYUTH XaPAKTCPUCTHUKHU BKHBAHHA Ta IICPCKIIAAY 'PaMaTHYHUX SABUIILL

3a Temoro «Iudinituy (The Infinitive);

— HABYMTHUCS YTBOPIOBATHU Ta BKUBATHU Pi3HI rpaMaTH4HI (POpMHU 1H(PIHITUBA;
— YWTaTH, MEPEKIIaIaTh Ta aHOTOBAHO MEPEKa3yBaTu TEKCTH 3a (aXxOBOIO

TEMAaTHUKO1O,

— UYHTATH, IICPCKIIAAATH Ta aHOTOBAHO IICPCKA3yBATHU CYCHiJ]BHO-HOJIiTI/I‘-IHi

TCKCTU.

MakcumainbHa cyma 0altiB 3a 000B’SI3K0B1 3aX011 KOHTPOJIt0 3 3M—I15 — 16 Gais.

1 3aBmanHsg — 14 Ganis:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHuit nepekiaa TeKCTy
1 — nepekas TekcTy

b) 4(1+1+1+1)
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHuMii epexia TEeKCTy 3a haxom
1 — nMchbMOBO BUKOHAaHHE Summary
1 —ycue Summary
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c) 4(1L+1+1+1)
1 — ciucok He3HAMOMUX CIIiB Ta 1X MEPeKIIay
1 — ycHMIT epekiiaj] CyCIiabHO-TIOITUYHOTO TEKCTY
1 — nMchbMOBO BUKOHaHHE Summary
1 — ycue Summary

d) 2(05+1)5)
0,5 — muchbMOBHIA KOHCTIIEKT TIpaBmJI 3a TeMoro The Infinitive
1,5 — muchbMOBO BUKOHAHHI rpaMaTH4Hi BpaBu 3a TeMoto The Infinitive

1 3aBmanHs (14 GaniB) He € 000B’I3KOBHM.
2 3aBniaHHg — 16 6aiB:

Bukonanag MKP Ne 5

MonynbHa KOHTpOJbHa poOoTa ckianaeTses 3 30 3aBnanb. KoxHe 3aBnaHHs
0,53 OGanmu. MoaynbHa KOHTPOJbHA POOOTAa BBAXKAETHCS 3aPaXOBAHOIO, SKIIO
HaJaHO MiHIMYM 18 mpaBUIBHMX BiAMOBIIEH.

Axmo 3axoan 00OB’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCIsl CTPOKIB, BU3HAYEHUX y IIPOrpaMi HaBYAIBHOI IUCHUIUTIHHU, KIJIBKICTh OaiB,
0 MOXKE€ OTPUMAaTH CTYAEHT, HE MOxe mnepeBuuryBatd 60% Bin MakCHUMAaJIbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOIIO.

Ominka 3a okpemi (abo yci) MOAyJl 3HMKYETBCSA y pa3i MPOIYCKIB 3aHSITh
CTYJIEHTOM. 3a KOXKHE MPOMYIIeHe 3aHATTA 3HIKYeThes 0,5 Oanu, ane MiHIMaiabHa
OIIIHKA TICIISl 3HWKEHHA HEe MOke OyTH Hibk4da 60% BiJ MaKCUMaJIbHO MO>KJIABOI.

MakcumanbHa cyma 0060B’sa3k0Bux 6aiiB 3 3M-I15 — 16 Gamis.

2 3apnanus (16 6aiiB) € 000B’ I3KOBUM.

2. MeToauKa NPOBEeACHHS TA OIIHIOBAHHA KOHTPOJILHOI0 3ax0ay s 3M-I16.

MiHimMagbHUH 00cAT 0a30BUX 3HAHb, 1110 HEOOX1AHMH 11 3acBoeHHS 3M — I16:
— YWTaTH, NEPEKIaNaTH Ta repekasyBatu Tekctu ““The role of economics in
environmental management”, “The fundamental model of economic activity.
The circular flow model”;
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— BHU3HAYaTH XapaKTEPUCTHKHU BXKUBAHHS Ta MEPEKIaTy PaMaTUYHUX SBUII]
3a Temoro «I'epynuiii» (The Gerund);

— HaBYMUTHUCS YTBOPIOBAaTH Ta BXKUBATHU PI3HI rpaMaTH4H1 (OPMHU TePYH/IIS;

— YWTaTH, MEPEKIIaaTh Ta aHOTOBAHO MEepPEKa3yBaTh TEKCTH 3a (aXx0OBOIO
TEMaTHKOIO;

— YWTaTH, MEPEKIIaaTh Ta aHOTOBAHO MEPEKa3yBaTH CyCMUIbHO-TIOMITUYHI
TEKCTH.

MakcumanbHa cyma OalliB 3a 00OB’SI3KOB1 3axo/u KoHTpoito 3 3M-II6 — 16
OaiB.

1 3aBganHsa — 13 OaiB:

JuB. Tabm1. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t nepexyaa TeKCTy
1 — mepekas TekcTy

b) 4(1+1+1+1)
1 — ciucok He3HAMOMMX CIIIB Ta IX MepeKiIaa
1 — ycHull nepekiaa TeKcTy 3a paxom
1 — nucbMOBO BUKOHAHHE Summary
1 — ycue Summary

c) 4(1L+1+1+1)
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHui#t mepexiaa CyCnijabHO-TIOTITUYHOTO TEKCTY
1 — muchbMOBO BUKOHaHHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — mucrMOBHIA KOHCTIEKT TIpaBUJI 32 TeMoro The Gerund
0,5 — mMcrMOBO BUKOHAHHI TpaMaTU4HI BIipaBu 3a Temoro The Gerund

1 3aBnanns (13 6aniB) He € 000B’SI3KOBUM.

2 3aBjanHHg — 16 GaiB:
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Buxkonauasgs MKP Ne 6

MoynbHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBnanb. KoxHe 3aBnaHHA
0,53 Oamu. MoaynapHa KOHTpOJIbHA pPOOOTa BBaXKAETHCS 3apaxOBaHOO, SKIIO
HaJlaHO MiHIMYM 18 npaBuiIbHUX BIAIOBIICH.

Sxmo 3axoau 00OB’SI3KOBUX ()OPM KOHTPOJIIO BUKOHYIOTHCS CTYAEHTOM
HIiCJIsl CTPOKIB, BUBHAYEHUX Y MPOTpamMi HaBYAIbHOI AUCHUIUTIHY, KITBbKICTh OariB,
0 MOXXE€ OTPUMATH CTYACHT, He MOXe mepeBuiryBaT 60% Big MakCUMalIbHO
MO>KJIMBOI JUTSI i€l pOpMU KOHTPOJTIO.

Ominka 3a okpemi (a00 yci) MOIyJi 3HIXKYETHCS y pa3l MPOIYCKIB 3aHATH
CTYJIEHTOM. 3a KOXKHE MPOMYIIEeHEe 3aHATTS 3HIKYEThcs 0,5 Oanu, ane MiHIMaabHa
OLIIHKA MICIIsl 3HWKEHHS He MOXke OyTu Huk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MakcumanbHa cyma 000B’s13K0BUX 0aiiB — 16 Gais.

2 3aBnanHs (16 6ainiB) € 000B’I3KOBUM.

3. MeToaMKAa NPOBEJACHHS TA OMIHIOBAHHSA KOHTPOJLHOI0 3axoay i 3M-I17.

MiHiMaIbHUH 00CAT 0a30BUX 3HAHB, IIT0 HEOOX1JHMH I 3acBoeHHS 3M — I17:

— YuTaTH, NepeKiaNaTH Ta nepekasdyBatu Tekctu “Fundamental concepts in
environmental economics”, “ldentifying the scope of environment damage:
local, regional, and global pollution”;

— BH3HAYATH XapaKTEPUCTUKU BXKUBAHHS Ta MEPEKIIaly TpaMaTUIHUX SBUIIL 32
temoro Participle | ta Participle Il;

— HaBUYUTHCS YTBOPIOBATHU Ta BXKUBaTH pi3Hi popmu Participle I ta IT;

— YHUTaTH, NePEKIIaJaTH Ta AHOTOBAHO MEepPEeKa3yBaTH TEKCTU 3a (PaxoBOIO
TEMaTUKOIO;

— YHUTaTH, MEePEKIIaaTH Ta aHOTOBAHO MepeKa3yBaTH CYCH1IbHO-TIOTITHYHI

TCKCTHU.

MakcumanbHa cyma 6aniB 3a 000B’3K0BI 3aX0Au KOHTpouto 3 3M—I17 — 17 6anis.

1 3aBmanasa — 13 GaiB:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHIIIHCHKOIO MOBOIO
1 — cMcok HE3HAMOMHX CJIIB Ta iX IepeKiazg
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1 — ycHuil nepekiaaa TEKCTy
1 — nepekas TeKCcTy

b) 4(1+1+1+1)
1 — ciucok He3HAMOMUX CIIiB Ta IX MEPeKIIay
1 — ycHMiT mepekiiag TeKCTy 3a haxom
1 — nMchbMOBO BUKOHaHHE Summary
1 — ycae Summary

c) 4(1+1+1+1)
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIIa
1 — ycHumii iepexiaj CyCriabHO-MOJITUYHOTO TEKCTY
1 — nuCcbMOBO BUKOHAHHE Summary
1 — ycue Summary

d 1(0,5+0,5
0,5 — mucpMOBHIA KOHCIIEKT IIpaBUJI 3a TeMoro The Participle
0,5 — mMcHrMOBO BUKOHAHHI TpaMaTHYHI BIIpaBH 3a TeMoto The Participle

1 3aBganns (13 6anmiB) He € 000B’I3KOBUM.

2 3aBnanasg — 17 OaiiB:

Buxonauasgs MKP Neo 7

MonynbpHa KOHTpoJibHA poOoTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBnaHHs
0,57 ©OamiB. MoaynbHa KOHTpOJIbHA pOOOTa BBAKAETHCS 3apaxOBAHOIO, SKIIO

HaJaHO MiHIMYM 18 npaBUILHUX BiAMOBIICH.

Ao 3axoau 000B’SI3KOBUX (OPM KOHTPOJIO BUKOHYIOTHCS CTYIEHTOM
HiCHsl CTPOKIB, BU3HAYEHUX Y IIPOrpaMi HaBYAIbHOI IUCLHUIUTIHHU, KIJIBKICTh OaiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MoOxe mnepeBuuryBatd 60% Bin MakCHUMallbHO

MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOJIIO.

Ominka 3a okpemi (a0o yci) MOIyJi 3HMXKYETHCS Yy pa3l MPOIYCKIB 3aHATH
CTYJIEHTOM. 3a KOXKHE MPOMYIIEeHEe 3aHATTA 3HIKYEThes 0,5 Oanu, ane MiHIMaabHa
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Hmk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MaxkcumanbHa cyma 000B’sa3k0Bux 6anis 3 3M-I17 — 17 Ganis.

49



2 3aBnanns (17 6amiB) € 000B’A3KOBHUM.

4, MeTOAUKA NPOBEACHHS TA OIIHIOBAHHA KOHTPOJILHOI0 3axoay s 3M-I18.

MiHIMaIbHUH 00CcAT 0a30BUX 3HAHD, 1110 HEOOX1AHUH I 3acBoeHHS 3M — I18:

— 4YWTaTH, TepeKiajath Ta ImepekasyBaTu TekcT ‘“Role of environmental
management in transition to steady development (part 1)”, “Role of
environmental management in transition to steady development (Part 2)”;

— BH3HAYATH XapaKTEPUCTUKU B)KUBAHHS Ta MEPEKIIay TPaMaTUYHHUX SBUIIL
3a temoro Conditional Sentences (Type O, I, 11, 11);

— HaBYMTHCA yTBOpioBatd Ta BikuBatu Conditional Sentences (Type O, I, II,
I1).

— YHTaTH, IepeKIagaTH Ta aHOTOBAHO MEepeKa3yBaTH TEKCTH 3a (PaxoBOIO
TEMAaTHUKOIO;

— YHUTaTH, NEPEKIIaJaTH Ta AHOTOBAHO MEepeKa3yBaTU CyCH1IbHO-TIOIITHYHI
TEKCTH.

MakcumanbHa cyma 6aiiB 3a 000B’s13K0BI 3aX01 KOHTpoJto 3 3M—I18 — 17 Gauis.

1 3aBmanayg — 13 OGaiiB:

JuB. Tabm1. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTIIHCHKOI MOBOO
1 — ciucok He3HAMOMMX CJIIB Ta iX MepeKiIal
1 — ycHu#t mepekaaa TeKCTy
1 — mepekas TekcTy

b) 4(1+1+1+1)
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHMi mepeksia TEKCTY 3a paxom
1 — nucbMOBO BUKOHAHHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHuii epexiaj CyCriabHO-MOJITUYHOTO TEKCTY
1 — nMchbMOBO BUKOHAHHE Summary
1 — ycue Summary
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d) 1(0,5+0,5)
0,5 — muceMoOBHIT KOHCIIEKT mpaBu 3a Temoro Conditional Sentences (Type 0, 1, 11,

1)

0,5 — muchbMOBO BHMKOHAHHI rpamMaThyHi BipaBu 3a TeMoro Conditional Sentences
(Type O, I, 11, 111)

1 3aBnanus (13 OaiiB) He € 000B’I3KOBUM.

2 3aBaaHHs — 17 OaiiB:

Buxkonanaga MKP Ne §

MonynbpHa KOHTpoJibHA poOoTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBiaHHs
0,57 ©OamiB. MojaynbHa KOHTpOJIbHA pOOOTa BBAXKAETHCS 3apaxOBAHOIO, SKIIO
HaJaHO MiHIMYM 18 npaBUIBLHUX BiAMOBIIEH.

Axmo 3axoan 00OB’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCIsl CTPOKIB, BU3HAYEHHUX Y IIPOrpaMi HaBYAJIbHOI IMCLUUIUTIHU, KUIBKICTh OaliB,
0 MOXKE€ OTpUMAaTH CTYAEHT, HE MoOxe mnepeBuuryBatd 60% Bi MakCHUMAaJIbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOIIO.

Oninka 3a okpemi (200 yci) MOAYNI 3HMXKYEThCS Y pa3l MPOMYCKIB 3aHATH
CTYJIEHTOM. 3a KOXKHE MPOMyIIeHe 3aHATTs 3HWKyeThes 0,5 6anu, ane MiHIMaabHa
OIIIHKA TICJISl 3HWKEHHA HEe MOke OyTH Hibk4da 60% BiJ MaKCUMaJIbHO MO>KJIABOI.

MaxkcumanbHa cyma 000B’s13k0BUX 0aniB 3 3M-I18 — 17 Gasnis.

2 3aBnanHs (17 6aniB) € 000B’A3KOBUM.

5. MeToauKa NPOBEICHHA TA OIIHIOBAHHSA KOHTPOJLHOrO 3axoay ajas 3M-I19.

MiHIMaabHUH 00CcAT 0a30BUX 3HAHB, 1110 HEOOX1AHMH U1 3acBoeHHS 3M — I19:
— YyTaTH, TepeKiIamaTH Ta TnepekasyBatu TekcTd “Environmental policy
planning: an overview”, “Government’s overall policy approach”;
— BHM3HAUYATH XapaKTEPUCTUKU BXKUBAHHS Ta MEpEKiIaly rpaMaTHYHUX SBUIIL
3a Temoro Indirect Speech;
— HaBUYUTHCS yTBOpIOBaTH Ta BxkuBatH Indirect Speech.
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— YHUTaTH, MEPEKJIaaTH Ta AHOTOBAHO MEepPEeKa3yBaTH TEKCTU 3a (PaxoBOIO
TE€MaTUKOIO;

— UYHTATH, IICPCKIIAAATU Ta AHOTOBAHO IICPCKA3YBATHU CYCHiJ'ILHO-HOJIiTI/I‘IHi
TCKCTU.

MaxkcumanbHa cyma 0ajiB 3a 000B’sI3K0B1 3ax01 KOHTpouto 3 3M—I19 — 17 Ganis.

1 3aBnannusg — 13 OamB:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cnucok He3HAOMUX CIIIB Ta iX MepeKIaj
1 — ycHull nepekaa TEKCTY
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — ciucok He3HaMOMMX CIIIB Ta IX MepeKiIaa
1 — ycHul nepekiaa TeKCTy 3a GpaxoM
1 — mucpMOBO BUKOHAaHHE Summary
1 — ycue Summary

c) 4(1L+1+1+1)
1 — ciucok He3HAMOMMX CJIIB Ta iX MepeKiIaa
1 — ycHu#t mepexsaa CyCniabHO-TIOTITUYHOTO TEKCTY
1 — muchbMOBO BUKOHaHHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — nmrucebMOBHIA KOHCTIEKT TIpaBHJI 3a TeMoro Indirect Speech
0,5 — mucrMOBO BUKOHAHI TpaMaTU4HI BIIpaBu 3a TeMoro Indirect Speech

1 3aBmanus (13 OamiB) He € 000B’I3KOBHM.

2 3aBnaHHsg — 17 Ganis:

Buxounanasg MKP Ne 9
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MonynpHa KOHTpOJIbHA poOoTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHS
0,57 6GaniB. MoaynpHa KOHTPOJbHA pOOOTa BBAXKAETHCA 3aPaxOBAHOIO, SKIIO
HaJlaHO MiHIMYM 18 npaBuiIbHUX BIAIOBIICH.

Sxmo 3axoaw 0OOB’SI3KOBUX (HOPM KOHTPOJIO BUKOHYIOTHCS CTYACHTOM
MICJIA CTPOKIB, BUBHAUYCHHUX y MPOTpaMi HaBYAIbHOI JUCIMIUTIHY, KIJIBKICTh OaliB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MoOxke mepeBuiryBatd 60% Bil MaKCHUMAalIbHO
MO>KJIMBOI JUTSI €1 pOpMU KOHTPOJTIO.

Orminka 3a okpemi (a00 yci) MOIyJi 3HIXKYETHCS y pa3i MPOMYCKIB 3aHSThH
CTYJIEHTOM. 3a KOXKHE MPOMYIIEeHEe 3aHATTS 3HIKYEThcs 0,5 Oanu, ane MiHIMaabHa
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Hmk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.
MakcumanbHa cyma 000B’s13k0BUX 0aniB 3 3M-I19 — 17 Ganis.

2 3aBnanHs (17 6aniB) € 000B’A3KOBUM.

6. MeToaMKa NPOBeICHHS TA OLIHIOBAHHA KOHTPOJIbLHOIO 3ax01y aAns 3M-
I110.

MiHiMaabHUM 00CAT 0a30BUX 3HAHB, I1T0 HEOOX1JHMH U1 3acBoeHHS 3M — I110:

— YUTaTH, NEepPEeKIaJaTH Ta rnepekazyBaTu Tekctu “‘Environmental strategy and
competitive advantage (Part 1)”, “Environmental strategy and competitive
advantage (Part 2)”;

— BU3HAYATH XapaKTEPUCTHKU BKUBAHHA Ta MEPEKIAAy TPaMATUUYHUX SBUIIL
3a Temoro Subjunctive Mood. Revision;

— HaBYHUTHCS YTBOPIOBATH Ta BikuBaTH Subjunctive Mood. Revision;

— YHUTaTH, IePEKJIaIaTH Ta aHOTOBAHO TIEPEeKa3yBaTH TEKCTH 3a (haXOBOIO
TEMaTHUKOIO;

— YHUTaTH, MePEeKIIaJaTH Ta aHOTOBAHO MepeKa3yBaTH CYCH1IbHO-TIOTITHYHI
TEKCTH.

MakcumanbHa cyma OaiiB 3a 00OB’SI3KOB1 3axoau KoHTpoiwo 3 3M-I110 — 17
OaiB.

1 3aBpmanasg — 13 Gais:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — y”TaHHA TEKCTY aHIIIHCHKOIO MOBOIO
1 — ciucok He3HAOMUX CIIIB Ta iX MepeKIa
1 — ycHuii nepekaa TEKCTy
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1 — nepekas TekcTy

b) 4(1+1+1+1)
1 — ciucok He3HAMOMUX CITiB Ta 1X MEPeKIIay
1 — ycHMi mepekyiag TeKCTy 3a paxom
1 — nuchbMOBO BUKOHaHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — ycHumii iepexiaj CyCrniabHO-MOMITUYHOTO TEKCTY
1 — nucbMOBO BUKOHAaHE Summary
1 — ycue Summary

d 1(0,5+0,5
0,5 — mucprMOBHIA KOHCIIEKT TpaBmII 3a TeMoto Subjunctive Mood. Revision
0,5 — mUChbMOBO BHMKOHAaHHI TpaMaTW4HI BIpaBH 3a Temoro Subjunctive Mood.
Revision

1 3aBganus (13 OaiiB) He € 000B’I3KOBUM.

2 3aBnaHayg — 17 Gaiis:

Buxonanug MKP Ne 10

MoynbHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBnanb. KoxkHe 3aBnaHHs
0,57 ©OamiB. MoaynbHa KOHTpOJIbHA pOOOTa BBAKAETHCS 3apaxOBAHOIO, SKIIO
HaJlaHO MiHIMyM 18 npaBuIbHUX BIAIOBIICH.

Sxmo 3axoau 000B’A3KOBUX (OPM KOHTPOIK BUKOHYIOTHCA CTYJIEHTOM
HicHsl CTPOKIB, BU3HAYEHUX Y IIPOrpaMi HaBYAIbHOI IUCLUUIUTIHHU, KIJTIBKICTh OaiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MOxe mnepeBuuryBatd 60% Bin MakCHUMAaJIbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOIIO.

Omuinka 3a okpeMi (a00 yci) MOAYJl 3HUXKYETbCS y pa3i MPOIYCKIB 3aHATh
CTYJIEHTOM. 3a KOKHE MPOMYIIECHE 3aHATTS 3HWKY€eThcs 0,5 Oanu, ajne MiHIMalbHA
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Hmk4da 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MaxkcumanbHa cyma 060B’s3k0Bux 6aiis 3 3M-1110 — 17 6anis.

2 3aBnanns (17 6amiB) € 000B’A3KOBHUM.
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4. MeTo0aHKA NPOBEJEHHS TA OLIHIOBAHHSI CEMECTPOBOI0 KOHTPOJIbHOI'0Q
3aX0/1y.

KoHTpoih MOTOYHNX 3HAHh BUKOHYETHCSI HA 0a31 HAKOMTUIYBaJIbHOI CHCTEMU
opraHizailii HaB4YaHHs.

dakTnuHa cyma 0aliB, SIKy OTPUMY€ CTYACHT 3a TEBHUU 3MICTOBHMIA
MOJyJib, MAa€ CKIAJaTHCs 13 PE3yNbTaTiB BUKOHAHHS 3aXOJIB 3 KOHTPOJIO, IO
3allJJaHOBAaHI 3a IIMM 3MICTOBHUM MOJyJieM, Ta YpaxOBYBaTH CBOE€YACHICTh
(HampuKyIaa: CTYACHT, SKUW TMPOMYCTHB KOHTPOJBHUN 3axify 0e3 MOBaKHUX
npuuuH abo OTpUMaB HE3aJOBUIbHY OIIIHKY, MAa€ MpaBO Yy TIKHEBUN TEPMiH
BUKOHATH 3aBJaHHS IIbOTO 3aX0/1y 3 MAaKCUMAJIbHOIO CyMOIO 0alliB, €KBIBaJICHTHOIO
OLIHIII He Ol HIDK "3aJ0BUIBHO")  BHKOHAHHS CTYJIEHTOM Tpadiky
HaBYaAJILHOTO MPOIIECY.

Cymu OaniB, sKi OTpUMaB CTYJEHT 3a BCiMa 3MICTOBHUMHU MOJYJSIMU HaB-
YaJIbHOI JUCHUIUIIHM, (QOPMYIOTH KUIBKICHY OIHKY (0an yCHIIIHOCTI) 3a
MIJICYMKaMHU TOTOYHMX KOHTPOJIIOIOYMX 3aXOJIB CTyJE€HTa 3 HaBYaJIbHOI
JUCHMIUTIHU. Pe3yiabTaTh HOTOYHOTO KOHTPOJIIO 3aHOCATHCA [0 1HTErpajibHOI
BiloMOCTi. PimeHHss mpo J0mycK CTyAeHTa JI0 IMiJICYMKOBOIO CEMECTPOBOTO
KOHTPOJIIO 3 KOHKPETHOI HaBYAJIBbHOI TUCIUIUIIH periiaMeHTyeThesl [lomoxkeHHs M
PO TPOBECHHS MMiICYMKOBOT'O KOHTPOJIIO 3HAHb CTYACHTIB.

CTyZmeHT BBaXa€TbCs JAOMYNIEHUM [0 IMiJCyMKOBOIO CEMECTPOBOTO
KOHTpOIIO (ICIHTY), SKIIO BIH BUKOHAB BCl BHAM POOIT, mepeadadeHi podoUyoro
HAaBYAJIBHOIO MPOTPAMOI0 TUCIUILUTIHA 1 HaOpaB 3a MOJYJIBHOIO CHCTEMOIO CyMy
oamiB He menIe 50 (50%) Big MakCUMalIbHO MOKIINBOI (000B’s13k0Ba yactuHa 100
OastiB) 3a MPAaKTUYHY YaCTHUHY.

[TicyMKOBUM KOHTPOJIEM 3HAHb CTY/ICHTIB € iCHHT.
Ex3amenarriiina po6oTa ckiIagaeThes 3 3 3aBAaHb. | 3aBIaHHS OIIHIOETHCS B

40 GamiB, 2 3aBnanHs B 40 6amiB, 3 3aBmanusg B 20 6aniB. Ex3aMenartiiina po6ora
BBAXKAETHCSI 3aPaX0OBAHOIO, SIKINO CTY/ICHT HaOpaB MiHIMyM 60 Oais.

OJIECEKUM NEPXKABHHUU EKOJIOTTYHUM YHIBEPCUTET

(moBHE HaiiMEHYBaHHS BUIOTO HaBYAILHOTO 3aKJIaTy)

PiBens BuIIOi ocBiTH: Marictp
CrenianeHicTh: 073 «MeHeTKMEHT»
281 «IlyOmiuHe ynpasJiiHHS Ta aAMiHICTPYBAHHD)
Cemectp 11
HapuanpHa nqucnumiina: IHo3eMHa MOBa 3a MpodeciiHUM CIpsIMYBaHHSIM

EK3AMEHAIIMHUM BUIET Ne 1
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1. Grammar Test 40 ©.
2. Fill in the gaps with the missed parts of thetext. ... 40 6.

3. Choose the correct option . 20 6.

3aTBep/KEHO Ha 3acifanHi Kadeapu iIHO3EMHUX MOB

[Tporokonm Ne  Bim *“__ ” 202 poky
I'oaoBa mukJa0BOI KOMicii «IHO3eMHa MOBa» IloroBa-Hikoaenko I'.B.
(mmipmmc) (Tpi3BuIIe Ta iHiNiamN)
Ex3amenarop
(i armuc) (mpi3BuIIe Ta iHimiamm)

3arajbHa KUIBKICHA OIIHKA € VCEePEeIHEHOI MK KUILKICHOIO OI[IHKOIO
MOTOYHHMX KOHTPOJIIOIOUKX 3aXo/liB (Tpada 3 BiIOMOCTI) Ta KUIbKICHOIO OITIHKOIO
CEMECTPOBOI0 KOHTPOJIIOIOYOro 3axony (rpada 4 BiAOMOCTI) 1 BUCTaBISIETHCS Y
rpadi 5 3aMK0oBO-€K3aMEHalliitH1 BIJOMOCTI (3arajgbHui 0al yCHIIMIHOCTI).

SIKIO CTYyAEHT 3a MiICYMKaMH ICIIUTY OTPUMAB 3arajibHy KiJIbKICHY OLIIHKY
Menine 50% (Big MakcHMMaJdbHO MOXKJIHMBOI Ha €K3aMEHI), TO BHKJIagayeM
BUCTABIIAE€TbCS y rpadl S5 3aranbHUil 0an yCHINIHOCTI, KM JOPiBHIOE OaJry
ycnimHocTi Ha icnuTi (rpada 4).

IIkana ouinroBanus 3a cucreMorw EKTAC Ta cucremMor0 yHiBepcUTETY

34 MKATOM0 3a HalllOHAJILHOIO CHCTEMOIO 3a.CI/ICTeMOIO
ECTS YHIBEPCUTETY
11 icnuTy VIS 3TTHKY (B mpoteHTax)

A 5 (BiIMiHHO) 3apaxoBaHO 90 -100

B 4 (mobpe) 3apax0oBaHO 82 - 89

C 4 (mobpe) 3apaxoBaHO 74 - 81

D 3 (3a710BUIBHO) 3apaxoBaHO 64-73

E 3 (3a10BLITBHO) 3apaxoBaHO 60 - 63

FX 2 (He3a70BUIBHO) HE 3apaxOBaHO 35-59

F 2 (He3ad0BIJIBHO) HE 3apaxOBaHO 1-34

3. PEKOMEHJALIT IO CAMOCTIHOI POBOTH CTYJEHTIB

3.1.  Mooynv 3M-II5 “The manager”, “Critical skills related to managerial
competence”, The Infinitive, nepexnao mexcmy 3a gpaxom ma nepekiao cycninvho-
NOJIMUYHO20 MEKCMY 3 AH2TTUCLKOI HA YKPAIHCLKY MOB).

Jlitepatypa: [1, c. 45 -55], [2, c. 38-42], [5, c. 73-84]
3.1.1. IToBuanHus

1. a) Texts “The manager”, “Critical skills related to managerial competence”.
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. [IpounTaT TEKCTU aHTTINCHKOIO MOBOIO.

. BuncaTu 3 TEKCTIB HOBI CJIOBa Ta 3pOOUTH iX MEPEKIIa/l.

. YCHO nepeKy1acTi TeKCTH 3 aHTJIIHChKOT Ha YKPaiHChbKY MOBY.
. [lepexasaTtu TekcTH.

AW N —

b) JdomamiHe ynranns. [lepekian TekcTy 3a dhaxom.

. CamocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (4000 ap.3HaKiB)
. Bunucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX MEPEKIal.

. YCHO mepeKIacTu TEKCT 3 aHIJIIChKOT Ha YKPaiHCHKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN B W=

c) JomarHe yntaHHs (epeKsa CyCIiIbHO-TOITHYHOTO TEKCTY)

. CamocrTiitHo 00paTu TekcT 3 anriaoMoBHOI razetu (4000 ap.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH X TIEpEKIal.

. YCHO mepeK1acTu TeKCT 3 aHTJIHCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

DN B WN -

d) Grammar:
The Infinitive

1. 3poOUTH KOHCIIEKT MpaBUJ BXKUBAHHS 1HPIHITUBY Ta HOro opM y aKTUBHOMY
Ta TAaCUBHOMY CTaHax.
2. BukonaTtu TpeHyBalibHI IPaMaTH4HI BIPABH.

3.1.2. [lutanHs 1151 caMOTIepeBIpKH

[HEN

. How is an organization defined?

. What is the horizontal classification?

. What is the difference between the functional manager and the general
manager?

. What is the vertical classification?

. What are 5 management functions?

. What are the tasks of a manager?

. What does the planning component encompass?

. What are managers responsible for?

. What does formal authority give rise t0?

w N

O© 00 NO U1 &~

57



10. What must effective managers be proficient in?

11. What are conceptual skills?

12. What are interpersonal skills?

13. What are technical skills?

14. What are political skills?

15. How many sets of specific skills explain 50% of manager effectiveness?
What are they?

16. What can we observe in terms of basic personality?

17. Why does a manager have to be an individual with other characteristics?

3.2.  Mooynb 3M-II6 “The role of economics in environmental management”,
“The fundamental model of economic activity. The circular flow model”, The
Gerund; nepexnao mexcmy 3a paxom ma nepekiao CycniibHO-NOAMUUHO20
meKcmy 3 aH2NIUCbKOI Ha YKPAIHCLKY MOB).

Jliteparypa: [1, ¢. 55 - 64], [2, c. 47-50]
3.2.1. [loBuanHus

a) Texts “The role of economics in environmental management”, “The
fundamental model of economic activity. The circular flow model”.

. [IpounTaTy TEKCTH aHTTIICHKOIO MOBOIO.

. BunucaTu 3 T€KCTiB HOBI CJIOBa Ta 3pOOUTH iX MEPEKIIa/I.

. YCHO mepeKy1acTi TeKCTH 3 aHTJIIHCHKOT Ha YKPaiHChbKY MOBY.
. [lepekaszatu TekcTH.

AW N —

b) Hdowmariine untanns. [lepekian TEKCTY 3a haxom.

. CaMocCTiiiHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (4000 ap.3HakiB
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH iX MEpEeKIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIHCHKOI Ha YKPAiHCbKY MOBY.
. [TucemoBe Summary.

. YcHe Summary

DN AN WN -

C) [omariHe untaHHs (epeKia CyCIiIbHO-TIOIITHYHOTO TEKCTY)

. CamocrTiiftHO 006paTu TeKcT 3 aHriIoMoBHOI razetu (4000 mp.3HaKIB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3p0OUTH X TIEPEKIIaI.

. YCHO IepeKJIacT! TEKCT 3 aHITIMChKOT Ha YKPaiHCHKY MOBY.

. [TucemoBe Summary.

AW —
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5. Ycue Summary

d) Grammar:
The Gerund

1. 3poOnTH KOHCHIEKT MpaBUJI B)KUBAHHS FEPYHAII0 Ta HOTO (JOPM Y aKTUBHOMY Ta
NaCUBHOMY CTaHaX.
2. BukoHaTu TpeHyBaJIbHI IpaMaTUYHI BIPABH.

3.2.2. IlutanHa U1 caMONepeBIpKU

1. What took a tremendous toll on the natural environment?

2. What illustrates how fundamental market decisions affect the earth’s natural
resource stock?

3. What is one of the most powerful and pervasive applications of economic
theory?

4. What are directly connected to environmental problems?

5. What is the circular flow model?

6. What supply resources or factors of production to the factor market?

7. What is the money flow?

8. What influences the volume of economic activity and hence the size of the

flow?

. What would a population increase give rise to?

10. What way can we understand the basic functioning of an economic system and
the market relationships between households and firms?

O

3.3. Mooyne 3IM-IIT “Fundamental concepts in environmental economics”,
“ldentifying the scope of environment damage: local, regional, and global
pollution”, The Participle; nepexnao mexcmy 3a ¢paxom ma nepexnao cycninvro-
NOJIMUYHO20 MEKCMY 3 AH2TUCLKOI Ha YKPAIHCLKY MO8).

Jlirepatypa: [1, c. 65-79], [2, c. 42-47]

3.3.1. [loByanHus

a) Texts “Fundamental concepts in environmental economics’’, “‘Identifying
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DN BN WN -

l.

the scope of environment damage: local, reqional, and global pollution”.

. [IpounTaTy TEKCTU aHTTINCHKOIO MOBOIO.

. BunucaTu 3 TEKCTIB HOBI CJIOBa Ta 3pOOUTH iX MEPEKIIa/l.

. YCHO nepeKs1acTi TEeKCTH 3 aHTJIIHChKOT Ha YKPaiHChbKY MOBY.
. [lepekasaTtu TekcTH.

b) Jdomarne untanns. [lepekaan TeKCTy 3a haxoMm.

. CaMocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (4000 ap.3HaKiB
. Bunucatu 3 TeKCTy HOBI ClIoBa Ta 3pOOUTH 1X MEpeKIal.

. YCHO mepeKIacTu TEKCT 3 aHIJIIChKOT Ha YKPaiHCHKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

c) JomarHe yntaHHs (epeKa CyCiIbHO-TOITHYHOTO TEKCTY)

. CamocrTiitHO 00paTu TeKcT 3 aHrioMoBHOI razetu (4000 ap.3HaKiIB)
. BuniucaTu 3 TekcTy HOBI CJIOBa Ta 3p0OUTH X TIEpEKIal.

. YCHO mepeK1acTu TeKCT 3 aHTJIHCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

d) Grammar:
The Participle

3poOUTH KOHCTIEKT MPABWII BXKUBAHHS JIEMPUKMETHUKA Ta HOTO (hOpM Y

AKTUBHOMY Ta IIACMBHOMY CTaHaX.

2.

O©COoO~NO O~ WN B

BukonaTtu TpeHyBagbHI IpaMaTUYHI BIPABH.

3.3.2. [lutanHs 1715 caMonepeBipKU

. What is environmental economics concerned with?

. What does pollution refers to?

. What are the types of pollutants?

. What are natural pollutants?

. What are anthropogenic pollutants?

. What can be a polluting source?

. How are sources of pollution generally grouped either by?
. What is a stationary source?

. What is a mobile source?

10. What is a point source?
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11. What is a nonpoint source?
12. What is local pollution?
13. What is regional pollution?
14. What is global pollution?

3.4. Mooynv 3M-II8 “Role of environmental management in transition to steady
development (part 1)”, “Role of environmental management in transition to
steady development (Part 2)”, The Conditional sentences (Type O, I, 1, 111);
nepekia0 mekcmy 3a paxom ma nepexiad cyCcnilbHO-NOJIMUYHO20 MEeKCmY 3
AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jliteparypa: [1, c. 80-91], [2, c. 59-60]

DW= AW N —

BN W —

3.4.1. [loBuanus

a) Texts “Role of environmental management in transition to steady
development (part 1), “Role of environmental management in transition to
steady development (Part 2) .

. [IpounTaTu TEKCTH aHITIMCHKOIO MOBOIO.

. Buniucatu 3 TeKCTIB HOBI CJIOBa Ta 3pOOUTH X MEpeKIal.

. YCHO nepeKIacTi TEKCTH 3 aHTJIIHCHKOT Ha YKPaiHChbKY MOBY.
. [lepekazatu TekcTH.

b) Hdowmariine yntanns. [lepekian TEKCTY 3a Gaxom.

. CaMocCTiiiHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (4000 ap.3HakiB
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO mepeK1acTu TeKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. YcHe Summary

c) [omarniHe untaHHs (epeKiIaa CyCHiIbHO-TIOITAYHOTO TEKCTY)

. CamocrTiitHO 00paTu TekcT 3 aHriaoMoBHOI razetu (4000 ap.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEPEKIIaI.

. YCHO nepeKIacTu TEKCT 3 aHIJIMChbKOT Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary
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d) Grammar:
The Conditional sentences (Type 0, I, 11, 111)

1. 3poOuTH KOHCIIEKT MPaBUJI BXKMBAHHS YMOBHHUX PEUYEHB Ta IX CTPYKTYpHU
noOyZI0BU B PEUCHHSX.
2. BukoHaTtu TpeHyBalibHI IPaMaTH4HI BIPABH.

3.4.2. IlutanHs 115l caMOTIePEBIPKU

=

What is the new intrinsic need of humanity?

What forms ecological-economic system?

How many kinds of communications take place in the ecological-economic
system?

What kinds of communications take place in the ecological-economic system?
What does the ecological-economic system represent?

What dynamical changes are in the social-ecological system?

What is ecological utopianism?

What is economic extremism?

What became the concept of the steady development accepted as an official
position of the United Nations at the International conference in Rio de Janeiro
in 1992 and accepted by all advanced states of the world as strategy of
development?

10. What does stability mean?

W N

©CoN O Bh

3.5. Mooyae 3M-II9 “Environmental policy planning: an overview”,
“Government’s overall policy approach”, Indirect speech; nepexnao mexcmy 3a
Gaxom ma nepexiao cycniibHO-NOIIMUYHO20 MEKCMY 3 AH2NIUCLKOT HA YKPATHCHKY
MO8Y.

Jliteparypa: [1, c. 91-101], [2, c. 61-62], [4, c. 360-383]

3.4.1. [ToBuanHus

» (L3

a) Texts “Environmental policy planning: an overview”,
overall policy approach’.

Government’s

1. [IpounTaTy TEKCTU aHTITIHCHKOIO MOBOIO.
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2. BunucaTu 3 TEKCTIiB HOBI CJIOBa Ta 3pOOUTH iX TEPEKIIAI.
. YCHO TepeKIacTi TEKCTH 3 aHTJIINChKOT Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCTH.

W

b) dowmaiine untanns. [lepekian TEKCTY 3a haxom.

. CaMOCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOI'O TeKCTy 3a (haxom (4000 ap.3HaKiB
. BunucaTu 3 TexcTy HOBI CJIOBa Ta 3p0OUTH X TIEPEKIIa.

. YCHO mepeKIacTu TEeKCT 3 aHTTHChKOT Ha YKPATHCHKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

D B W N =

c) JomarniHe unTaHHs (epeKIal CyCHiIbHO-TIOITHYHOTO TEKCTY)

. CamocrTiitHO 00paTu TeKCT 3 aHriIoMoBHOI razetu (4000 ap.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH X TIEpEKIal.

. YCHO mepeK1acTu TeKCT 3 aHTJIHCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN A W=

d) Grammar:
Indirect speech

1. 3poOUTH KOHCIIEKT MpaBUJ BXKMBAHHS YMOBHHUX PEUYEHb Ta 1X CTPYKTYpHU
MoOYy/I0BU B PEUCHHSIX.
2. BukoHaTu TpeHyBallbHI FpaMaTU4HI BIPABH.

3.4.2. [lutanHs 17151 caMOTIePEeBIPKU

. What does devising solutions for environmental pollution rely on?
. What disciplines play a role in the process?

. What is risk assessment?

. What is risk management?

. What is the command-and-control approach?

. What do standards set?

. What is the market approach to policy?

. What is called the “polluter-pays principle”?

©CONOUTAWN P

3.6. Mooyns 3M-II10 “Environmental strategy and competitive advantage (Part
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1)”, “Environmental strategy and competitive advantage (Part 2)”, Subjunctive
mood. Revision; nepexnao mexcmy 3a ¢haxom ma nepexnad cycniibHo-
NOJIIMUYHO20 MEKCMY 3 AH2TTUCLKOI HA YKPAIHCLKY MOB).

Jlitepatypa: [1, c. 101-115], [2, c. 52-55]

3.4.1. [ToBuanHus

a) Texts “Environmental strategy and competitive advantage (Part 1),
“Environmental strategy and competitive advantage (Part 2)”.

. [IpounTaT TEKCTU aHTITIHCHKOIO MOBOIO.

. BuncaTu 3 TeKCTiB HOBI CJIOBa Ta 3pOOUTH iX MEPEKIIa/I.

. YCHO nepeKy1acTi TeKCTH 3 aHTJIIHCHKOT Ha YKPaiHChKY MOBY.
. [lepeka3aTtu TeKCTH.

B W N —

b) Hdowmariine untanns. [lepekaan TEKCTy 3a haxom.

. CaMocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (4000 ap.3HaKiB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH iX HEpEKIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIHCHKOI Ha YKPAiHChKY MOBY.

. [TucemoBe Summary.

. YcHe Summary

DN AW =

c) JomarHe yntaHHs (MepeKaa CyCIiIbHO-TMOITHYHOTO TEKCTY)

. CamocrTiiftHO 00paTu TeKcT 3 aHriaoMoBHOI razetu (4000 mp.3HaKIB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3p0OUTH X TIEPEKIIal.

. YCHO mepeKIacTu TeKCT 3 aHTIIHACHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. YcHe Summary

DN BN WN -

d) Grammar:
Subjunctive mood. Revision.

1. 3poOUTH KOHCTIEKT MTPaBUJI BYKMBAHHS YMOBHUX PEUEHB Ta X CTPYKTYpH
noOyZI0BU B PEUCHHSIX.
2. BukonaTtu TpeHyBallbHI rpaMaTH4YHI BIIPABH.

3.4.2. [lutanHs 17151 caMOTIEPEBIPKU
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1. What is the purpose of the symposium on “Environmental Strategy and
Competitive Advantage”?

. What was a matter of regulatory compliance?

. What is “environmental sustainability’?

. What are businesses dependent on and involved in?

. What is “industrial ecology’?

. What does industrial ecology ask?

. What are industrial ecologists particularly interested in?

. What is a valuable support to the redesign of our industrialized culture?

CoONO OTE~ WD

4. IMTAHHA 10 3AXOJ1B IOTOYHOTI'O, HIJCYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTuyH1 3aBJAHHA 10 MOAYJbHOI KOHTPOJIBHOI poO0oTH Moyt 3M-115.

Module control work Ne 5

[2, c. 38 —42], [3, c. 85— 100]

I. Grammar Test (The Infinitive)
Put the right form of the Infinitive:

1. There is nothing (to done). [2, c. 38 — 42], [3, c. 85— 100]

2. You'll have to attend preparatory courses to be able (to enter) the university. [2,
c. 38 —42], [3, c. 85 -100]

3. He is said (to leave) school. [2, c. 38 — 42], [3, c. 85 — 100]

4. What is your opinion about the steps (to take) in order to help the pupils in their
studies? [2, c. 38 — 42], [3, c. 85 —100]

5. They must (to argue) about the right occupation to choose. [2, ¢. 38 — 42], [3, c.
85 —100]

6. (To teach) is a responsible task. [2, c. 38 —42], [3, c. 85— 100]

My sister is glad (to teach) English. [2, ¢. 38 — 42], [3, c. 85— 100]

8. I'msorry (not to help) you. [2, c. 38 —42], [3, c. 85 —100]
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9. It seems (to rain) since the very morning. [2, c. 38 — 42], [3, c. 85— 100]

10.They are glad (to be taught) by such outstanding teachers. [2, c. 38 — 42], [3, c.
85— 100]

11. I'm sure very soon | shall be sorry (not to speak) with you about it. [2, c. 38 —
42], [3, c. 85— 100]

12.When she felt worse, she was sorry (not to consult) the doctor. [2, c. 38 — 42],
[3, c. 85— 100]

13.1 know that when | return to town in autumn, my friend is sure (to work) at her
thesis. [2, c. 38 —42], [3, c. 85— 100]

14.0ur teacher is glad (to teach) such clever students. [2, ¢c. 38 — 42], [3, c. 85 —
100]

15.She is said (to write) a new book. [2, c. 38 — 42], [3, c. 85— 100]

16.Why didn't you (to come) yesterday? [2, c. 38 — 42], [3, c. 85— 100]

17.1 am sorry (to wait for) you for the whole evening. [2, c. 38 — 42], [3, c. 85 —
100]

18.1 intended (to show) you my collection of snapshots. [2, c. 38 — 42], [3, c. 85 —
100]

19.They are said (to be) rather good. [2, c. 38 —42], [3, c. 85 — 100]

20.Tomorrow | shall be busy: I expect (to read) for the examination all day long.
[2, c. 38 —42], [3, c. 85— 100]

21.The examination is said (to be) very difficult. [2, c. 38 — 42], [3, c. 85 — 100]

22.0ur students are very glad (to give) consultations. [2, ¢c. 38 — 42], [3, c. 85 —
100]

23.I'm so glad (to give) the necessary explanations at the last consultation. [2, c. 38
—42], [3, c. 85— 100]

24.He ( to know) to speak English well. (SIC) [2, c.40-42], [ 3, ¢.94-97].

25.She is said (to work) much. [2, c. 38 — 42], [3, c. 85 — 100]

26.My father is considered (to make) an extraordinary discovery. [2, c. 38 — 42],
[3, c. 85— 100]

27.This man is believed (to achieve) much in the field of science. [2, c. 38 — 42],
[3, c. 85— 100]

28.She is sure (to come). [2, c. 38 — 42], [3, c. 85— 100]

29.He didn't seem (to hear) the news. [2, c. 38 — 42], [3, c. 85— 100]

30.My friend happened (to be) at home. [2, c. 38 — 42], [3, c. 85— 100]

31.She didn't prove (to be) a well-read person. [2, c. 38 — 42], [3, c. 85 — 100]

32.The mother is certain (to return) soon. [2, c. 38 —42], [3, c. 85— 100]

33.She is not likely (to do) it. [2, ¢.40-42], [ 3, ¢.94-97].

34.Sandra managed (to find) a solution. [2, c. 38 — 42], [3, c. 85— 100]

35.His language skills seem (to improve). [2, c. 38 — 42], [3, c. 85 — 100]

36.Andrew hates (to get up) early in the morning. [2, c. 38 — 42], [3, c. 85— 100]

37.Dave agreed (to meet) his friends at the café tomorrow evening. [2, c. 38 — 42],
[3, c. 85— 100]
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38.1 can’t stand (to live) in the countryside. [2, c. 38 — 42], [3, c. 85 — 100]

39.What are you going to do after (to finish) school? [2, c. 38 — 42], [3, c. 85 —
100]

40.Mike warned his sister not (to come) back late. [2, c. 38 — 42], [3, c. 85 — 100]

41.We usually learn (to read) at school. [2, c. 38 — 42], [3, c. 85— 100]

42.Ann didn’t know what (to answer). [2, c. 38 —42], [3, c. 85 — 100]

43.George practices (to swim) twice a week. [2, c. 38 —42], [3, c. 85— 100]

44.My dad gave up (to smoke) a long time ago. [2, c. 38 —42], [3, c. 85— 100]

45.1 would like (to visit) Brazil this summer. [2, c. 38 —42], [3, c. 85 — 100]

46.Ken failed (to make) new friends at school. [2, c. 38 — 42], [3, c. 85— 100]

47.Have you ever thought of (to grow) your own fruit and vegetables? [2, c. 38 —
42], [3, c. 85— 100]

48.We arranged (to return) back home on 10 of June. [2, c. 38 — 42], [3, c. 85 —
100]

49.1 happened (to wait) for the bus when the accident happened. [2, c. 38 — 42], [3,
c. 85 -100]

50.You must (to joke). [2, c. 38 —42], [3, c. 85— 100]

51.We (to wait) for ages. [2, c. 38 —42], [3, c. 85— 100]

52.1f you had run a bit faster, you would (to win). [2, c. 38 — 42], [3, c. 85 — 100]

53.1 am glad (to hear) it. [2, c. 38 — 42], [3, c. 85— 100]

54.He seems (to write) much. [2, c. 38 — 42], [3, c. 85 — 100]

55.He is reported (to write) a new novel. [2, ¢. 38 — 42], [3, ¢. 85— 100]

56.She ought (to tell) the truth. [2, c. 38 — 42], [3, c. 85 — 100]

57.This house seems (to rebuild) already. [2, c. 38 — 42], [3, c. 85 — 100]

58.1 don’t (to understand) this text. [2, ¢. 38 — 42], [3, ¢. 85— 100]

59.1 happened (to ask) her about you when you came in. [2, c. 38 —42], [3, c. 85 —
100]

60.He seems (to ask) wrong people. [2, c. 38 — 42], [3, c. 85— 100]

[6, c. 45-46]
1. Fill the gaps:
The Ecosystem

The ecosystem is defined as a unit of biosphere which has the structural and
functional aspects. It consists of the community and physical environment

including interactions between them. It was in the year 1935 by the
Tansley.
The can be temporary which includes the rain water pond. It

can be permanent also. They may be natural which includes the rivers. They are
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also manmade which includes the aquarium. It can be small which includes the
pond or a drop of water. It can be large which includes the ocean. There is a small
ecosystem own as the micro ecosystem. The distinct community consisting of
number of species forms an ecosystem.

The ecosystem consists of two components which are known as the biotic
and abiotic. The biotic component includes the autotrophs, heterotrophs and the
reducers. They form the living members of an ecosystem. These are
related by the food mainly. The food transfers the matter and energy to the outside
world. The autotrophs are also known as the producers. They make the food by the
process of photosynthesis from the . They not only make their food
but also r the other organisms. They absorb the energy from sun and convert into
the chemical energy. They release oxygen. The organic compounds release energy
during . They are also referred as the transducers as they can
one form of energy to the other form. The organic compounds which are formed
play an important role in of bodies and help in the release of energy.
They maintain the ratio of gases which help to maintain the balance of :
The heterotrophs are not able to make their own food. It includes the zooplankton,
larvae, bugs, higher animals and vertebrates. They are also as the
consumers. They are of different types. Basically, they are of herbivores and
carnivores type.

A) ecosystem, B) introduced, C) components, D) respiration, E) the building,
F) known, G) different, H) inorganic materials, 1) nature, J) convert.

4.2. I'pamatuyHi 3aBJaHHS 10 MOIYJIbHOI KOHTPOJIBHOI podoTn Moayns 3M-I16.

Module control work Ne 6
[2, c. 47 —50], [3, ¢. 113 — 123]
I. Grammar Test (The Gerund)
Put the right form of the Gerund:

1. 1 don't like (to sit) in a room in such weather. [2, c. 47 —50], [3, c. 113 — 123]

2. When will the (sit) of the literary circle be held? [2, c¢. 47 — 50], [3, c. 113 —
123]

3. You can find the sender's address at the (begin) of the letter. [2, c. 47 — 50], [3,

c. 113 -123]

(To walk) is very useful. [2, c. 47 — 50], [3, c. 113 — 123]

5. You may finish this discussion after my (to leave). [2, c. 47 — 50], [3, c. 113 —
123]

B
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6. After (to finish) their homework the children went out to play. [2, c. 47 — 50],

[3,c. 113 —123]

The telephone is (to ring). [2, ¢. 47 — 50], [3, ¢. 113 — 123]

8. What do you mean by (to come) to the lesson without reading the story? [2, c.
47 -50], [3, c. 113 - 123]

9. On every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 -123]

10.They enjoyed (to sit) in the sun and (to bath) in the river. [2, c. 47 — 50], [3, c.
113 - 123]

11.There is no hope of our (to get) home before 7 o'clock. [2, c. 47 —50], [3, c. 113
—123]

12.He returned home after a year's absence, it was a happy (to meet). [2, c. 47 —
50], [3, ¢. 113 - 123]

13.1 like (to invite) friends to my house. [2, c. 47 —50], [3, c. 113 — 123]

14.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113 —
123]

15.She was proud (to see) this famous writer. [2, c. 47 — 50], [3, c. 113 — 123]

16.1've no objections (to be asked) about it. [2, c. 47 — 50], [3, ¢. 113 — 123]

17.She's quite sure of (to ask) him about his travel. [2, c. 47 —50], [3, c. 113 — 123]

18.1 do not like (to attract). [2, c. 47 — 50], [3, ¢. 113 — 123]

19.Soames had the peculiar to (feel) of having overdone his own honesty. [2, c. 47
—50], [3, c. 113 - 123]

20.At every school she went she learned (to draw), besides being taught by her
father at home. [2, c. 47 —50], [3, ¢. 113 — 123]

21.1t is historically true. | loathe (to have) to admit it. [2, c. 47 — 50], [3, c. 113 —
123]

22.1t's no good to (try) to keep him here. [2, c. 47 —50], [3, c. 113 — 123]

23.She kept on (to laugh) at father. [2, c. 47 —50], [3, c. 113 — 123]

24.She stopped (to cry), looked up, said nothing. [2, c. 47 — 50], [3, c. 113 — 123]

25.1 like (to invite) friends to my house. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

26.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113 -
123]

27.1 have no objections to (to ask) about it. [2, c. 47 — 50], [3, ¢. 113 — 123]

28.(To travel) is a very pleasant thing. [2, c. 47 — 50], [3, ¢. 113 — 123]

29.1 don’t like the idea of (to walk) in the rain. [2, c. 47 —50], [3, ¢. 113 — 123]

30.After (to leave) her umbrella in the hall, she entered the living-room. [2, c. 47 —
50], [3, ¢. 113 - 123]

31.What do you mean by (to come) to the lesson without (to read) the story? [2, c.
47 -50], [3, c. 113 - 123]

32.0n every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 -123]

33.He felt better for (to write) the letter. [2, ¢. 47 —50], [3, c. 113 — 123]

34.She enjoyed (to give) parties. [2, ¢c. 47 — 50], [3, c. 113 - 123]

~
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35.1 remember laughing aloud, and the laugh (to carry) by the wind away from me.
[2, c. 47 —50], [3, c. 113 —123]

36.Nobody can go on (to live) without some belief. [2, c. 47 — 50], [3, c. 113 —
123]

37.1t is awfully hard work (to do) nothing. [2, c. 47 —50], [3, c. 113 — 123]

38.My friend is fond of (to swim). [2, c. 47 — 50], [3, c. 113 — 123]

39.At every school she went she learned (to draw) besides (to teach) by her father
at home. [2, c. 47 —50], [3, c. 113 - 123]

40.1 like (to make) people happy. [2, c. 47 —50], [3, c. 113 — 123]

41.No one could pass in or out without (to see). [2, c. 47 —50], [3, c. 113 — 123]

42.She denies (to speak) with him. [2, c. 47 — 50], [3, c. 113 — 123]

43.1t is no use (to tell) like that to me. [2, c. 47 — 50], [3, c. 113 — 123]

44.He turned at (to hear) her footsteps. [2, c. 47 —50], [3, c. 113 —123]

45.He has no right to come bothering you and your father without (to be invited).
[2, c. 47 —50], [3, c. 113 —123]

46.Tom went on (to whitewash). [2, c. 47 — 50], [3, c. 113 — 123]

47.He did not remember (to see) in that room. [2, c. 47 — 50], [3, ¢. 113 — 123]

48.The child deserves (to praise). [2, c. 47 —50], [3, c. 113 — 123]

49.1t looks like (to rain). [2, c. 47 —50], [3, ¢. 113 — 123]

50.1 hope you will forgive me (to disturb) you. [2, c. 47 —50], [3, ¢. 113 — 123]

51.1 said something about my clock (to be) slow? [2, c. 47 —50], [3, c. 113 — 123]

52.1 do not remember (to hear) the legend before. [2, c. 47 —50], [3, c. 113 —123]

53.Are you quite sure of those words (to refer) to my brother? [2, c. 47 — 50], [3, c.
113 - 123]

54.Do not forget (to shut) the windows when you leave home. [2, c. 47 —50], [3, c.
113 - 123]

55.1 am fond of (to give) presents. [2, c. 47 —50], [3, c. 113 — 123]

56.1 am fond of (to be given) presents. [2, c. 47 —50], [3, ¢. 113 — 123]

57.You are responsible for (to give) him that job. [2, c. 47 — 50], [3, ¢. 113 — 123]

58.1 am sorry for (to be given) such a small scholarship. [2, ¢. 47 —50], [3, c. 113 -
123]

59.0ne can (to learn) a lot by reading. [2, c. 47 — 50], [3, ¢. 113 — 123]

60.She (to be surprised) at my coming. [2, c. 47 —50], [3, ¢. 113 — 123]

[6, c. 55-56]
I1. Fill the gaps:

Global warming looms, in many people’s minds, as one of
threats facing the planet. Over the past 20 years researchers have gathered evidence
that the burning of fossil fuels is causing temperatures to rise. However, the exact
pace of global warming, as well as the size of mankind’s to the
warming trend, remain uncertain. Aside from these issues is the question of
precisely how greenhouse-gas emissions should be abated, assuming that they need
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to be reduced at all. In a new paper for the Copenhagen Consensus project,
William Cline of the Centre for Global Development and the Institute for
International Economics these topics.

Rising temperatures are capable of causing great economic harm-though a
lot depends not just on how big future rises prove to be but also on how quickly
they happen. One estimate is that a doubling of atmospheric of carbon
dioxide would cost between 1% and 2.5% of global GDP, depending on what
kinds of damage you include.

One study from America’s Environmental Protection Agency the
possible costs. Around a quarter of the total economic damage would fall on
farmers, who could no longer use some lands. Around a sixth of the total cost
would come in the form of increased cooling costs for homes and offices (net of
the reduced costs of heating). Rising sea levels, damage to drinking-water

and heatwaves would each account for 10%. Deforestation and rising
ozone pollution together would another 10%. And the economic estimates
exclude the “amenity value” — the price people would be willing to pay to avoid
rising for reasons of convenience.

Yet totting up such Is far from straightforward. That is because
applying cost-benefit analysis to climate change is harder than for most public-
policy . many of the benefits will not be realized for decades or
centuries, while the costs of abatement will be felt today.

A) listed, B) examines, C) supplies, D) figures, E) the biggest, F) questions, G)
add, H) temperatures, 1) contribution, J) concentrations.

4.3. 'pamMaTuyHi 3aBAaHHS 10 MOAYJIHHOI KOHTPOJIBHOI poO0oTH Motyst 3M-IT7.

Module control work Ne7

[2, c. 42 — 47], [3, c. 100 — 113]

I. Grammar Test (The Participle)
Put the right form of the Participle:

1. Is this seat (to take)? [2, c. 42 — 47], [3, ¢. 100 — 113]

2. The man (to stand) at the door helped the old woman to get off the bus. [2,
.42 —47],[3, c. 100 —113]

3. (To see) that he was late he took a taxi. [2, ¢. 42 — 47], [3, ¢. 100 — 113]

What is this instrument (to use) for? [2, c. 42 — 47], [3, c. 100 — 113]

5. Watches and cameras (to make) in Japan are very popular all over the world. [2,
.42 —47],[3, c. 100 — 113]

A
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6. (To take) the child by the hand she hurried to the kindergarten. [2, c. 42 — 47],
[3, c. 100 — 113]

7. (To receive) a letter, I usually answer it at once. [2, c. 42 — 47], [3, c. 100 —
113]

8. While (to prepare) for an examination, he always studies in the reading-hall. [2,
.42 —47],[3, c. 100 — 113]

9. While (correct) the students' test-papers, the teacher underlined the mistakes
with a red pencil. [2, c. 42 — 47], [3, c. 100 — 113]

10. (To correct) by the teacher regularly, the exercises are very useful to the
students. [2, c. 42 — 47], [3, c. 100 — 113]

11. (To correct) the test-papers, the teacher returned them to the students. [2,
.42 —47],[3, c. 100 — 113]

12.(To be corrected) by the teacher yesterday, the students' test-papers will be
returned to them today. [2, c. 42 — 47], [3, c. 100 — 113]

13.(To hear) the sounds of music, they stopped talking. [2, c. 42 — 47], [3, c. 100 —
113]

14.This is a church (to build) many years ago. [2, c. 42 — 47], [3, ¢. 100 — 113]

15.While (to examine), the boy could not help crying. [2, c. 42 — 47], [3, c. 100 —
113]

16.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, ¢. 100 — 113]

17.(To prescribe) the medicine, the doctor went away. [2, c. 42 — 47], [3, c. 100 —
113]

18.(To show) the wrong direction, the travelers soon lost their way. [2, c. 42 — 47],
[3, c. 100 — 113]

19.Time (to permit), we will go for a walk. [2, c. 42 — 47], [3, ¢. 100 — 113]

20.The treaty (to sign), trade was at once resumed. [2, c. 42 — 47], [3, c. 100 — 113]

21.The day (to be) finer and a little warmer than the previous one, he went out
again. [2, c. 42 - 47], [3, ¢. 100 — 113]

22.(Not to understand) the rule, he made many mistakes. [2, c. 42— 47], [3,
c. 100 —113]

23.(To finish) the book, I had a holiday. [2, c. 42 — 47], [3, c. 100 — 113]

24.While (to understand) your problem, | don’t know how I can help. [2, c. 42 —
47], [3, ¢. 100 — 113]

25.(To find) only in the Andes, the plant is used by local people to treat skin
diseases. [2, c. 42 — 47], [3, c. 100 — 113]

26.(To wait) six weeks for the washing machine to be delivered, | decided to
cancel the order. [2, c. 42 —47], [3, ¢. 100 — 113]

27.A line (to see) through this crystal looks double. [2, c. 42 — 47], [3, c. 100 —
113]

28.(To open) her eyes, the baby began to cry. [2, ¢c. 42 — 47], [3, ¢. 100 — 113]
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29.(Not to understand) the rules, | found the cricket match boring. [2, c. 42 — 47],
[3, c. 100 — 113]

30.(To be) unemployed, Ben spent a lot of time filling in job application forms. [2,
.42 —47],[3, c. 100 — 113]

31.(Not to hope) to be recognized, | chose a sit in a dark corner. [2, c. 42 — 47], [3,
c. 100 — 113]

32.(To look) after carefully, this plant can live through the winter. [2, c. 42 — 47],
[3,c. 100 — 113]

33.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, c. 100 — 113]

34.There (to be) little time left, we took a taxi. [2, c. 42 — 47], [3, c. 100 — 113]

35.(To lose) the key, the boy couldn’t get into the house. [2, c. 42— 47], [3,
c. 100 —113]

36.Peter left the room (to say) that he was in a hurry. [2, c. 42 — 47], [3, c. 100 —
113]

37.(To think) that he was busy, | decided to call on him later. [2, c. 42 — 47], [3,
c. 100 —113]

38.(To graduate) from the university, | decided to return to my home city. [2,
c.42—47],[3, c. 100 — 113]

39.When (to speak) English, pay more attention to the word order. [2, c. 42 — 47],
[3, c. 100 — 113]

40.(To run) across the field, I fell and hurt my ankle. [2, c. 42 — 47], [3, c. 100 —
113]

41.She stood silent, her lips (to press) together. [2, c. 42 — 47], [3, ¢. 100 — 113]

42.The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
.42 —47],[3, c. 100 — 113]

43.He picked up the (to break) pencil. [2, c. 42 — 47], [3, c. 100 — 113]

44 \We admired the stars (to twinkle) in the sky. [2, c. 42 — 47], [3, c. 100 — 113]

45.(To reach) the classroom, she became the object of many questions. [2, c. 42 —
47], [3, c. 100 — 113]

46.This was (to say) as if thinking aloud. [2, c. 42 — 47], [3, c. 100 — 113]

47.When (to question) Ann kept silence. [2, c. 42 — 47], [3, c. 100 — 113]

48.The bag was (to lose) yesterday. [2, c. 42 — 47], [3, c. 100 — 113]

49.The effect of her words was (to terrify). [2, c. 42 — 47], [3, c. 100 — 113]

50.We heard the wheels of the dog-cart (to crash) on the gravel of the drive. [2,
c. 42 —47],[3, c. 100 — 113]

51.She has found me (to unalter). [2, c. 42 — 47], [3, ¢. 100 — 113]

52.Presently other footsteps were heard (to cross) the room below. [2, c. 42 — 47],
[3, c. 100 — 113]

53.Generally (to speak), | don't like boys. [2, c. 42 —47], [3, c. 100 — 113]

54.The taxi could be seen (to wait) outside. [2, c. 42 — 47], [3, c. 100 — 113]

55.She had (to draw) room decorated. [2, c. 42 — 47], [3, c. 100 — 113]
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56.Get your things (to pack). [2, c. 42 — 47], [3, c. 100 — 113]

57.The two men were heard (to descend). [2, c. 42 — 47], [3, c. 100 — 113]

58.There was sunlight (to come) in through the shutters. [2, c. 42 — 47], [3, c. 100 —
113]

59.A cold wind swept the pavement, (to bear) a scrap of silver paper from a
chocolate box across the lamplight. [2, c. 42 — 47], [3, c. 100 — 113]

60.1 am going to Rome (to have) friends there. [2, c. 42 — 47], [3, c. 100 — 113]

[6, c. 66-67]
1. Fill the gaps:

The Grand Canyon

The Grand Canyon of the Colorado River is the largest gorge in the world-a
290-mile-long gash across the face of the Colorado Plateau in Arizona.
Rim to rim, it measures up to 18 miles across, with an average width of 10 miles;
its average depth is one mile. Within this Delaware-size area of eroded rock rise
mountains higher than any in the eastern United States and that dark walls of
gorges of years old. Agent of this scene, the Colorado River drops
2,200 feet over nearly 200 rapids as it roars through the Canyon the Gulf
of California.

Numbers, though, tell only of the canyon's story and merely hint at
the magic of its myriad hues, strata, spires and gorges. The place is more than the
sum of its parts-so much more that neither the eye nor the mind of the beholder can

more than a small part of it at one time. As John Wesley Powell,
whose party in 1869 became the first to traverse the canyon by river, wrote, “You
cannot see the Grand Canyon in one view, as if it were a changeless
from which a curtain might be lifted.”

At the canyon's bottom, a mile below the rim, the Colorado River slices
through Granite. Gorge, some of the oldest rocks visible anywhere on the
earth. Nearly two billion years old, the Vishnu schist is the gleaming black

of a once towering mountain range. Some 500 million years after it
formed, vast rifting and faulting laid it down the tilted, sediments of the
Grand Canyon Series atop schist. Ten distinct layers of sandstone, limestone, and
shale bespeak the advance and retreat of seas, the building up and
wearing down of mountains, the meandering of rivers over 600 million years.

A) encompass, B) toward, C) remnant, D) spectacle, E) millions, F) colorful,
G) ancient, H) exposing, 1) northern, J) part.
4.4. I'pamaTryH1 3aBJIaHHS 10 MOJYJIBHOI KOHTPOJIbHOI poboTu Mo tyst 3M-I18.
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Module control work Ne8

[6, c. 59 — 60], [3, ¢.58 —60]

I. Grammar Test (The Conditional Sentences)

Put the right form of the verb in Conditional Sentences:

1. If I (to be free) tomorrow, | shall join you with pleasure. [2, ¢. 59 — 60], [3,
c. 58 — 60]

2. If your brother (to be) here now, he will be surprised at your behaviour and |
am sure he would not approve of it. [2, ¢c. 59 — 60], [3, ¢.58 —60]

3. If we (to be) not writing this exercise now | should give you my pen. [2, c. 59 —
60], [3, c.58 —60]

4. If it (to be raining) now, the children would not be running about in the garden.
[2, c. 59 —60], [3, ¢.58 —60]

5. If the students (to work) regularly they will pass their exams. [2, c. 59 — 60], [3,
.58 —60]

6. | would come at once, if you (to be) really ill. [2, c. 59 — 60], [3, ¢.58 —60]

7. Ifyou | had met her I (to tell) her about it. [2, c. 59 — 60], [3, ¢.58 —60]

8. If I leave town | never (to tell) my people where | am going. [2, c. 59 — 60], [3,
.58 —60]

9. You will get good results if you (to apply) this method of calculation. [2, c. 59 —
60], [3, c.58 —60]

10.1f they (to find) the exact meanings of these words, they will understand the text
easily. [2, c. 59 — 60], [3, ¢.58 —60]

11.1f the wind (to be) favourable, the ship would reach the port of destination early
in the morning. [2, ¢. 59 - 60], [3, ¢.58 —60]

12.The results of the experiment (to be) much better if he had used the new
equipment. [2, c. 59 - 60], [3, ¢.58 —60]

13. (To be) the vapour cooled below its dew point, some of it would become
liquid. [2, ¢. 59 - 60], [3, ¢.58 —60]

14.Most lakes and rivers would dry up if they (to depend) solely upon precipitation
for their store water. [2, c. 59 — 60], [3, ¢.58 —60]

15.1f all the atmospheric moisture (to be) precipitated it would create a layer
averaging only one inch in depth over the entire globe. [2, c. 59 — 60], [3, ¢.58 —
60]

16.1f you (not to buy) coffee, we shall drink tea. [2, c¢. 59 — 60], [3, ¢.58 —60]

17.1f he is free tomorrow, he certainly (to come) to our party. [2, c. 59 — 60], [3,
.58 —60]

18.My brother would not have missed so many lessons if he (not to hurt) his leg.
[2, c. 59 — 60], [3, ¢.58 —60]
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19.1f my friend (to work) in my office, we should meet every day. [2, c. 59 — 60],
[3, ¢.58 —60]

20.1f you spoke English every day, you (to improve) your language skills. [2, c. 59
—60], [3, ¢.58 —60]

21.1f you get a "five", your mother (to be) happy. [2, c. 59 — 60], [3, ¢.58 —60]

22.1f she (to return) earlier, she would have been able to see him before he left. [2,
c. 59 - 60], [3, ¢.58 —60]

23.1f these shoes were not too big for me, I (to buy) them. [2, ¢. 59 — 60], [3, ¢.58 —
60]

24.1f you (to ring) me up, I shall tell you a secret. [2, c. 59 — 60], [3, ¢.58 —60]

25.1f you (to be) a poet, you would write beautiful poetry. [2, c. 59 — 60], [3, ¢.58 —
60]

26.1f he did not read so much, he (not to know) English literature so well. [2, c. 59
—60], [3, ¢.58 —60]

27.1f he (to come) to our house yesterday, he would have met his friend. [2, ¢. 59 —
60], [3, c.58 —60]

28.1f he (not to pass) his examination, he will not get a scholarship. [2, ¢. 59 — 60],
[3, ¢.58 —60]

29.1f she (not to help) me, I should have been in a very difficult situation. [2, c. 59
—60], [3, ¢.58 —60]

30.My father would have more free time if he (not to read) so many newspapers.
[2, c. 59 — 60], [3, ¢.58 —60]

31.1f only you had let me know, | (to go) there immediately. [2, c. 59 — 60], [3,
.58 —60]

32.1f | were a famous singer, | (to get) a lot of flowers every day. [2, ¢. 59 — 60],
[3, ¢.58 —60]

33.1f my brother (to be) in trouble, I shall help him, of course. [2, c. 59 - 60], [3,
.58 —60]

34.1f I don't manage to finish my report today, | (to stay) at home tomorrow. [2, c.
59 - 60], [3, ¢.58 —60]

35.1f she is more careful about her diet, she (not to be) so stout. [2, ¢. 59 — 60], [3,

.58 —60]

36.You would not feel so bad if you (not to smoke) too much. [2, c. 59 - 60], [3,
.58 —60]

37.1f he (to learn) the poem, he would not have got a bad mark. [2, c. 59 — 60], [3,
.58 —60]

38.1f you gave me your dictionary for a couple of days, | (to translate) this text. [2,
c. 59 -60], [3, ¢.58 —60]

39.1f I (to be) a musician, | should be very happy. [2, ¢. 59 — 60], [3, ¢.58 —60]

40.1f Barbara (to get) up at half past eight, 8 would have been late for school. [2, c.
59 —60], [3, ¢.58 —60]

41.1f you had not put the cup on the edge of the table, it (not to break). [2, ¢. 59 —
60], [3, ¢.58 —60]

42.1 should be very glad if he (to come) my place. [2, ¢. 59 — 60], [3, ¢.58 —60]
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43.1f he (to live) in Odessa, he would go to the sea every week. [2, c. 59 — 60], [3,
.58 —60]

44.1f you (to go) to the theatre with us last week, you would have enjoyed the
evening. [2, ¢. 59 — 60], [3, ¢.58 —60]

45.You won't understand the rule if you (not to listen) to the teacher. [2, c. 59 —
60], [3, c.58 —60]

46.1f he weren't such a bookworm, he (not to spend) so much time sitting in the
library. [2, c. 59 — 60], [3, ¢.58 —60]

47.1 should not have bought the car if my friend (not to lend) me money. [2, c. 59 —
60], [3, c.58 —60]

48.1f he did not live in Lviv, we (not to meet) so often. [2, c. 59 — 60], [3, ¢.58 —60]

49.1f he had warned me, I (to do) the work in time. [2, c. 59 — 60], [3, ¢.58 —60]

50.1f | (to have) this rare book, I should gladly lend it to you. [2, ¢c. 59 — 60], [3,
.58 —60]

51.The dish would have been much more tasty if she (to be) a better cook. [2, c. 59
—60], [3, ¢.58 —60]

52.He never (to phone) you if I hadn't reminded him to do that. [2, c. 59 — 60], [3,
.58 —60]

53.Your brother (to become) much stronger if he took cold baths regularly. [2, c.
59 —-60], [3, ¢.58 —60]

54.1f he (to be) more courageous, he would not be afraid. [2, c. 59 — 60], [3, ¢.58 —
60]

55.1f the fisherman had been less patient, he (not to catch) so much fish. [2, ¢. 59 —
60], [3, c.58 —60]

56.1f you (to put) the ice cream into the refrigerator, it would not have melted. [2,
c. 59 -60], [3, ¢.58 —60]

57.1F I (to know) the result now, | would phone her immediately. [2, ¢. 59 — 60], [3,
.58 —60]

58.1f you had let me know yesterday, | (to bring) you my book. [2, c. 59 — 60], [3,
.58 —60]

59.1f it (to snow), the children will play snowballs. [2, ¢. 59 — 60], [3, ¢.58 —60]

60.1f I (not to know) English, I should not be able to enjoy Byron's poetry. [2, ¢. 59
—60], [3, ¢.58 —60]

[6, c. 81]
1. Fill the gaps:

Here we come to the important task for in social practice and, at the
same time, to the methodological problems arising in the preparation of such an
inter-disciplinary document. It is not only matter of a 'different language’ of
different scientific methods in individual disciplines, but it sometimes
the debate on the fundamental issues of the scientific work. When has an exact
scientist the right or the duty to come out of the shell of his narrow and countless
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verified laboratory to take up an attitude to an issue which is only
vaguely related to his subject, and therefore only lends itself to a

analogy? And yet who has the right to derive such an analogy, if not the specialist
of the respective field?

Consequently, conflicts among specialists of the natural and
social sciences, where each is trying to impose the priorities of his viewpoint as the
‘nation-wide' interest. Another problem of such an interdisciplinary IS
the discussion between the analytics and synthetics in each individual scientific
discipline of groups. In social sciences as well there are experts,
specialized in some partial problems, who study the most minute details and, on
the other hand, there are also natural scientists with a broad ecological orientation
and an insight into scientific disciplines. The analytists reproach these
‘encyclopedists' for 'knowing nothing about everything, while the synthetists laugh
at the narrow specialists for 'knowing everything about nothing. The
goes as far as the issue of 'science an non-science, where only exact experimental
work as scientific, while its processing as a basis for decision-making
is considered as non-scientific compilation.

A) experiment, B) both, C) occur, D) several, E) discussion, F) is considered,
G) concerns, H) science, I) cooperation, J) remote.
4.5. I'pamatryHi 3aBIaHHS 10 MOAYJIHHOI KOHTPOIBHOI poboTH Moyt 3M-T19.

Module control work Ne9

[2, c. 61—62], [3, c. 44 - 47]

I. Grammar Test (The Indirect speech)

Put the right form of the verb in the Indirect Speech:

1. | knew they (to wait) for me at the metro station and | decided to hurry. [2,
. 61-62], [3, c. 44 — 47]

2. | didn't know that you already (to wind) up the clock. [2, c. 61 - 62], [3, c. 44 —
47]

3. | was afraid that the little girl (not to be) able to unlock the front door and (to

go) upstairs to help her. [2, c. 61 —62], [3, c. 44 — 47]

He says that he (to know) the laws of the country. [2, c. 61 — 62], [3, c. 44 — 47]

Sarie understood why Lanny (not to come) the previous evening. [2, c. 61 — 62],

[3, c. 44 — 47]

6. She asked me whether | (to remember) the legend about a faithful lion. [2,

.61 —-62], [3, c. 44 — 47]

He understood that the soldiers (to arrest) him. [2, c. 61 — 62], [3, c. 44 — 47]

8. He could not understand why people (not to want) to take water from that well.
[2, c. 61 —62], [3, Cc. 44 — 47]

o b
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9. I suppose they (to send) a dog after the burglar immediately. [2, c. 61 — 62], [3,
C. 44 —47]

10.He said he (to leave) tomorrow morning. [2, c. 61 — 62], [3, c. 44 — 47]

11.She says she already (to find) the book. [2, c. 61 — 62], [3, c. 44 — 47]

12.He stopped and listened: the clock (to strike) five. [2, c. 61 — 62], [3, c. 44 — 47]

13.She said she (can) not tell me the right time, her watch (to be) wrong. [2, c. 61 —
62], [3, c. 44 — 47]

14.1 asked my neighbour if he ever (to travel) by air before. [2, c. 61— 62], [3,
C. 44 — 47]

15.The policeman asked George where he (to run) so early. [2, c. 61— 62], [3,
C. 44 — 47]

16.The delegates were told that the guide just (to go) out and (to be) back in ten
minutes. [2, c. 61 — 62], [3, c. 44 — 47]

17.My friend asked me who (to play) the piano in the sitting room. [2, c. 61 — 62],
[3, C. 44 — 47]

18.He said he (to come) to the station to see me off. [2, ¢. 61 — 62], [3, c. 44 — 47]

19.1 was sure he (to post) the letter. [2, c. 61 — 62], [3, c. 44 — 47]

20.1 think the weather (to be) fine next week. [2, c. 61 — 62], [3, c. 44 — 47]

21.1 knew that he (to be) a very clever man. [2, c. 61 — 62], [3, c. 44 — 47]

22.1 want to know what he (to buy) for her birthday. [2, c. 61 — 62], [3, c. 44 — 47]

23.1 asked my sister to tell me what she (to see) at the museum. [2, c. 61 — 62], [3,
c. 44 — 47]

24.He said he (to stay) at the "Ritz" Hotel. [2, c. 61 — 62], [3, c. 44 — 47]

25.They realized that they (to loose) their way in the dark. [2, c. 61— 62], [3,
c. 44 — 47]

26.He asked me where | (to study). [2, c. 61 — 62], [3, c. 44 — 47]

27.1 thought that I (to finish) my work at that time. [2, c. 61 — 62], [3, c. 44 — 47]

28.He says he (to work) at school two years ago. [2, c. 61 — 62], [3, c. 44 — 47]

29.Victor said he (to be) very busy. [2, c. 61 —62], [3, c. 44 — 47]

30.Tom said he (to go) to see the doctor the next day. [2, c. 61 — 62], [3, c. 44 — 47]

31.He told me he (to be) ill. [2, c. 61 — 62], [3, c. 44 — 47]

32.He told me he (to read) that book last week. [2, c. 61 —62], [3, c. 44 — 47]

33.They told me that Tom (not to come) to school the day before. [2, c. 61 — 62],
[3, C. 44 — 47]

34.1 told my sister that she (must) catch cold. [2, c. 61 — 62], [3, c. 44 — 47]

35.She told me she (to catch) cold. [2, c. 61 — 62], [3, c. 44 — 47]

36.He said that while crossing the English Channel they (to stay) on deck all the
time. [2, c. 61 — 62], [3, c. 44 — 47]

37.The woman said she (to feel) sick while crossing the Channel. [2, c. 61 — 62],
[3, C. 44 — 47]

38.She said she (to feel) bad that day. [2, c. 61 — 62], [3, c. 44 — 47]

39.The old man told the doctor that he (to have) pain in his right side. [2, c. 61 —
62], [3, c. 44 — 47]

79



40.He said he just (to be examined) by a good doctor. [2, c. 61 — 62], [3, c. 44 —
47]

41.He said (not to come) to school until Monday. [2, c. 61 — 62], [3, c. 44 — 47]

42.The man said he (to spent) a month at a health resort. [2, c. 61 — 62], [3, . 44 —
47]

43.He said that his health greatly (to improve) since then. [2, ¢. 61 — 62], [3, c. 44 —
47]

44.She said that her brother (to play) chess with her grandfather. [2, c. 61 — 62], [3,
C. 44 — 47]

45.George said it (to be) very difficult to play that role. [2, c. 61 — 62], [3, c. 44 —
47]

46.He asked why there (to be) so few people in the street. [2, c. 61— 62], [3,
C. 44 — 47]

47.The man asked the boy if he (to know) where he lived. [2, c. 61— 62], [3,
C. 44 —47]

48.The woman told him (not to worry) and go home quietly. [2, c. 61 — 62], [3,
C. 44 —47]

49.She said that she (to sleep) in the open air. [2, c. 61 — 62], [3, c. 44 — 47]

50.She asked me why I (to tell) her the truth. [2, c. 61 — 62], [3, c. 44 — 47]

51.She asked me if | (to see) him before. [2, c. 61 — 62], [3, c. 44 — 47]

52.She said that she (to come) and see us on Friday if that was all right. [2, c. 61 —
62], [3, c. 44 — 47]

53.She promised me that she (to finish) writing the report by the time you get here.
[2, c. 61 —62], [3, Cc. 44 — 47]

54.He agreed that it (to be) a very difficult time for all of them. [2, c. 61 — 62], [3,
c. 44 — 47]

55.He told me that | (to work) too hard and I (to take) more time off. [2, c. 61 —
62], [3, c. 44 — 47]

56.She said that her new computer (to make) a lot of difference to her. [2, c. 61 —
62], [3, c. 44 — 47]

57.He said he (to take) many photographs while travelling in the Caucasus. [2,
. 61-62], [3, c. 44 — 47]

58.He said that he (to come) to see us on Sunday. [2, c. 61 —62], [3, c. 44 — 47]

59.He said it (to do) him a lot of good. [2, c. 61 — 62], [3, c. 44 — 47]

60.He said he (to feel) better then. [2, c. 61 — 62], [3, c. 44 — 47]

[6, c. 92-93]

I1. Fill the gaps:

Water in Ukraine is being used mainly inefficiently, non-productive
consumption of water increase volume of water resources to be used
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decreases due to pollution and . Practically all surface water sources
and ground waters are polluted. Main substances, which cause pollution, —
compounds of nitrogen and phosphorus, , Which are exposed to
light oxidation, pesticides, oil products, heavy metals, phenols. Intensive
euthrofication of inland water bodies cause worsening of status of Black and Azov
seas.

By level of efficient of water resources and quality of water
Ukraine, according to UNESCO, takes 95-th position among 122 countries.

The system of state governance in the area of protection of waters
immediate reforming towards transfer to integrated management of water
resources. Functions of management in the are of protection, usage and restoration
of waters are allocated between different central executive authorities that result in
their overlapping, different of provisions of environment protection
legislation and inefficient usage of budget funds.

Drinkable water supply of Ukraine almost by 80 per cent by usage
of surface waters. Ecological status of surface water bodies and quality of water in
such bodies are the main factors of sanitary and epidemiological of
population. At the same time most of water bodies by level of pollution are
attributed to those, which are polluted and much polluted.

Underground waters of Ukraine in many regions by their quality do not meet

the regulative to sources of water supply; it is related mainly to
anthropogenic pollution. Status of water supply to rural population is of a peculiar
concern as the centralized water supply only 25 per cent of rural

settlements of Ukraine.
A) usage, B) well-being, C) interpretation, D) organic substances, E) requirements,

F) covers, G) is ensured, H) suitable, I) requires, J) depletion.

4.6. I'pamaTu4Hi 3aBIaHHS 10 MOJIYJIbHOI KOHTPOJIbHOT podoT Moyt 3M-I110.

Module control work Ne10

[2, c. 51 —55], [3, ¢. 56 — 65]

Grammar Test (The Subjunctive Mood)

Put the right form of the verb in the Subjunctive mood. Revision:

1. The unfortunate pupil wished he (not to forget) to learn the rule. [2, c. 52 — 55],
[3, c. 61— 62].

2. 1 wish I (to have) a season ticket to the Philharmonic next winter. [2, c. 52 —
55], [3, c. 61 — 62].
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3. | wish | (to consult) the teacher when | first felt that mathematics was too
difficult for me. [2, c. 52 — 55], [3, c. 61 — 62].

4. 1 love sunny weather. | wish it (to be) warm and fine all the year round. [2,
c. 52 —55], [3, c. 61 — 62].

5. I wish I (not to lend) Nick my watch: he has broken it. [2, c. 52 — 55], [3,
c. 61 —62].

6. | wish you (to send) word as soon as you arrive. [2, ¢. 52 — 55], [3, c. 61 — 62].

7. I'wish I (not to have) to do my homework every day. [2, ¢c. 52 — 55], [3, c. 61 —
62].

8. | wish you (to go) skiing with me yesterday: | had such a good time! [2, c. 52 —
55], [3, c. 61 — 62].

9. I'wish I (to know) Spanish. [2, c. 52 —55], [3, c. 61 — 62].

10.1 wish | (not to drink) so much coffee in the evening: | could not sleep half the
night. [2, c. 52 — 55], [3, c. 61 — 62].

11.1 wish you (to read) more in future. [2, c. 52 — 55], [3, c. 61 — 62].

12.1 wish | never (to suggest) this idea. [2, ¢. 52 — 55], [3, c. 61 — 62].

13.1 wish I (to be) at yesterday's party: it must have been very merry. [2, c. 52 —
55], [3, ¢. 61 —62].

14.1 wish we (to meet) again next summer. [2, c. 52 —55], [3, ¢. 61 — 62].

15.Don't you wish you (to see) that performance before? [2, c. 52 — 55], [3, c. 61 —
62].

16.They wished they (not to see) this horrible scene again. [2, c. 52 — 55], [3,
c.61-62].

17.1 wish | (can) give up smoking. [2, c. 52 — 55], [3, c. 61 — 62].

18.She wishes she (to see) him at yesterday's party. [2, c. 52 — 55], [3, c. 61 — 62].

19.1 wish | (to pass) my driving test last Monday. [2, c. 52 — 55], [3, c. 61 — 62].

20.1 wish | (not to forget) my friend's birthday yesterday. [2, c. 52 — 55], [3, c. 61 —

62].

21.The boy is sad. He wishes he (not to break) the window. [2, c. 52 — 55], [3,
c. 61 -62].

22.My aunt wishes she (to stay) at home last weekend. [2, ¢. 52 — 55], [3, c. 61 —
62].

23.He wishes he (to know) something about cars. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

24.1 wish it (to be) sunny. [2, ¢. 52 — 55], [3, c. 61 — 62].

25.1 wish it (to be) sunny during our picnic last Saturday. [2, ¢. 52 — 55], [3, c. 61 —
62].

26.She wishes she (to live) in Kyiv. [2, ¢. 52 — 55], [3, c. 61 — 62].

27.My friend wishes he (not to do) that last night. [2, c. 52 — 55], [3, c. 61 — 62].

28.1 wish | (to bring) my camera last spring. [2, c. 52 — 55], [3, c. 61 — 62].

29.1 wish | (can) tell the future. [2, ¢. 52 —55], [3, c. 61 — 62].

30.Do you wish you (to be) in the Guinness Book of Records? [2, ¢. 52 — 55], [3,
c. 61 —62].

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 —55], [3, c. 61— 62].
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32.She often wishes things (to be) different. [2, c. 52 — 55], [3, c. 61 — 62].

33.1 wish | (to buy) that grey hat instead of this one. It was more expensive, but the
quality was much better. [2, c. 52 —55], [3, c. 61 — 62].

34.1t looks like raining, |1 wish we (to take) our umbrellas. [2, c. 52 — 55], [3,
c. 61 —-62].

35.The child is crying, | wish | (to know) how to calm her. [2, c. 52 — 55], [3,
c. 61 —-62].

36.1 wish you (to finish) your work already. We could go for a walk now. [2,
c. 52 -55], [3, c. 61 -62].

37.1 wish I (to know) it was your favourite writer. 1 would have bought the book
for you. [2, c. 52 — 55], [3, c. 61 — 62].

38.1 wish I (to know) French. [2, ¢c. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. I wish she (to be) more careful. [2, c. 52 — 55], [3,
c. 61 -62].

40.1 wish you (to read) more English books in future. [2, c. 52 — 55], [3, c. 61 —
62].

41.1 feel sick. I wish I (not to eat) all the ice cream. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

42.They need a singer for the choir. | wish | (can) sing. [2, ¢. 52 — 55], [3, c. 61 —
62].

43. 1 wish I (to look after) my parrot better. [2, c. 52 — 55], [3, c. 61 — 62].

44.1 can't remember her telephone number. | wish | (can). [2, c. 52— 55], [3,
c.61-62].

45.1 wish | (not to lend) him my car: he has broken it. [2, c. 52 — 55], [3, c. 61 —
62].

46.My watch has stopped. | wish | (to have) a better watch. [2, c. 52 — 55], [3,
c. 61 -62].

47.1 feel so tired. I wish I (not to stay up) so late last night. [2, ¢. 52 — 55], [3,
c. 61 -62].

48.My apartment is rather small. | wish | (to have) a bigger one. [2, c. 52 — 55], [3,
c. 61 -62].

49.1 wish | (not to spend) all my money last night. [2, c. 52 — 55], [3, c. 61 — 62].

50.1 wish I (to know) the answer to this question. [2, c. 52 — 55], [3, c. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, c. 52 — 55], [3, c. 61 — 62].

52.1 wish I (to know) then what | know now. [2, c. 52 —55], [3, c. 61 — 62].

53.1 wish you (to see) this film. | am sure you would like it. [2, ¢. 52 — 55], [3,
c. 61 -62].

54.1 wish you (to come) earlier. You should have gone to the museum together. [2,
c. 52 - 55], [3, c. 61 — 62].

55.1 wish you (to have) time to read this article. Now you would able to answer all
the questions. [2, ¢. 52 — 55], [3, c. 61 — 62].

56.1 wish you (to see) my friend. [2, c. 52 — 55], [3, c. 61 — 62].

57.1 wish | (to know) where you are and what you are doing. [2, c. 52 — 55], [3,
c. 61 —62].

58.1 wish 1 (to be) only joking. [2, c. 52 — 55], [3, c. 61 — 62].
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59.1 wish I (not to tell) you about it. [2, c. 52 — 55], [3, c. 61 — 62].
60.We all wished that we (to stop) there. [2, c. 52 — 55], [3, c. 61 — 62].

[6, c. 102]

4.7. 3aB1aHHS 10 iCTIUTY.

1 3aBmaHHsa
Grammar Test

Insert the proper form of the verb:
. He seems (to work) much. [2, c. 38-42], [3, c. 85-100]
. He is reported (to write) a new novel. [2, c. 38-42], [3, c. 85-100]
. She ought (to tell) the truth. [2, c. 38-42], [3, c. 85-100]
. This house seems ( to rebuild) already. [2, c. 38-42], [3, c. 85-100]
. I don’t (to understand) this text. [2, ¢. 38-42], [3, c. 85-100]
. | happened (to ask) her about you when you came in. [2, c. 38-42], [3, c. 85-100]
. He seems (to know) wrong adress. [2, c. 38-42], [3, c. 85-100]
. If you lent me your bag, | (to go) shopping. [2, c. 38-42], [3, c. 85-100]
. You could (to ask) me first. [2, c. 38-42], [3, c. 85-100]
10. I am expecting (to give) a pay-rise next month. [2, c. 38-42], [3, c. 85-100]
11. Where is the girl (to read) the book? [2, c.42-47], [ 3, c. 100-113]
12. There (to be) little time left, we took a taxi. [2, c.42-47], [ 3, c. 100-113]

13. (To lose) the key, the boy couldn't get into the house. [2, c.42-47], [ 3, c. 100-
113]

14. Peter left the room (to say) that he was in a hurry. [2, ¢.42-47], [ 3, ¢. 100-113]

15. (To think) that he was busy, | decided to call on him later. [2, c.42-47], [ 3, c.
100-113]

16. (To graduate) from the university, | decided to return to my home city. [2, c.42-
47], [ 3, c. 100-113]

17. When (to speak) English, pay more attention to the word order. [2, c.42-47], [
3, c. 100-113]

18. (To run) across the field, | fell and hurt my ankle. [2, ¢.42-47], [ 3, c. 100-113]
19. She stood silent, her hands (to press) together. [2, ¢.42-47], [ 3, c. 100-113]

20. The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c.42-47], [ 3, c. 100-113]

© 00 N OO i A WO N P~ =-—

84



21. He has no right to come bothering you and your father without (to invite). [2,
c.42-47],[ 3, c. 100-113]

22. Tom went on (to whitewash). [2, c. 47-50], [3, c. 113-123]

23. He did not remember (to see) in that room. [2, c. 47-50], [3, c. 113-123]

24. The child deserves (to praise). [2, c. 47-50], [3, c. 113-123]

25) It looks like (to rain). [2, c. 47-50], [3, c. 113-123]

26. | hope you will forgive me (to disturb) you. [2, c. 47-50], [3, c. 113-123]
27. | said something about my clock (to be) slow. [2, c. 47-50], [3, c. 113-123]
28. | do not remember (to hear) the legend before. [2, c. 47-50], [3, c. 113-123]

29. Are you quite sure of those words ( to refer) to my brother? [2, c. 47-50], [3,
c. 113-123]

30. Do not forget (to shut) the windows when you leave home. [2, c. 47-50], [3,
c. 113-123]

31. If you (to go) to Paris you’ll see the Eiffel tower. [2, ¢. 59-60], [3, c. 55-60]
32. What (to do) if you (to find) a treasure? [2, c. 59-60], [3, c. 55-60]

33. If I (to know) you are coming I won’t leave the house. [2, ¢. 59-60], [3, c. 55-
60]

34.1f | (to have) a big house, I ( to invite) friends. [2, c. 59-60], [3, c. 55-60]
35. He (to understand) the message if he knew Spanish. [2, ¢. 59-60], [3, c. 55-60]

36. If the weather (to be) fine, we will celebrate your birthday outside. [2, c. 59-
60], [3, c. 55-60]

37. The parents (to let) me go to the South if | passed exams well. [2, c. 59-60],
[3, c. 55-60]

38. | (to find) those types of papers if | had a little bit more time. [2, c. 59-60],
[3, c. 55-60]

39. If we (to close) the window yesterday, it would not have been so cold in here.
[2, c. 59-60], [3, c. 55-60]

40. If the lady had not stopped the boy, he ( to run) into the van. [2, c. 59-60],
[3, c. 55-60]

41. The dog (not to attack) you if you hadn't teased him. [2, ¢. 59-60], [3, c. 55-60]

42. If they (to buy) a new tent, they might not have got wet during the night. [2,
c. 59-60], [3, c. 55-60]

43. You (not to ask) many questions tomorrow. [2, ¢.32-33], [3, c. 47-55]
44. This book (to look for) everywhere. [2, ¢.32-33], [3, c. 47-55]
45. She (to choose) the best actress of this year. [2, ¢.32-33], [3, c. 47-55]

85



46. She (to help) with the housework now. [2, ¢.32-33], [3, c. 47-55]

47. The fence (to paint) by the end of next week. [2, ¢.32-33], [3, c. 47-55]

48. They often (to laugh) at. [2, ¢.32-33], [3, . 47-55]

49. These plants ( to water) before | came. [2, ¢.32-33], [3, c. 47-55]

50. The logs (to cut) too long for our fireplace yesterday. [2, ¢.32-33], [3, c. 47-55]

2 3aBIaHHI

1. Fill the gaps:

Monitoring Land Water

The State Hydrometeorological Service (the Ministry of Emergencies)
monitors hydrochemical state of water 151 water bodies and carries out
hydrobiological at 45 water bodies. The data are collected on 46
parameters, which allow assessment of the chemical composition of water,
biogeneous parameters, presence of suspended and organic substances,
the main pollutants, heavy metals and pesticides. 8 water bodies are observed for
chronic toxicity of water. The indicators of contamination of surface
waters are also determined.

The State Environmental Inspectorate (the Ministry of Environment)

a selective sampling and obtains data on more than 65 parameters that
are measured.

The State Committee for Water Management monitors rivers, reservoirs,
canals, and pieces of water within multi-purpose water resources
utilization systems, water supply systems, trans-border watercourses and reservoirs
in zones around nuclear power plants. Water quality is monitored using physical
and chemical parameters for 72 reservoirs, 164 rivers, 14 irrigation systems, 1 firth
and 5 multi-purpose channels. In addition, as a part of radioactive monitoring,
water management organizations monitor of radio nuclides in surface
waters.

The Sanitary and Epidemiological Service (the Ministry of Health) carries out
observations over the sources of centralized and decentralized drinking water
supply and recreation sites along and reservoirs.

The enterprises of the State Geological Survey (the Ministry of Environment)
monitor the state of groundwater. In the places of monitoring, the level of
groundwater (occurrence), its natural geochemical composition is assessed. 22
parameters, heavy metals and pesticides concentration are determined.

The Sanitary and Epidemiological Service (the Ministry of Health) provides

analysis of groundwater intended for drinking
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A) irrigation systems, B) rivers, C) consumption, D) including, E) the amount, F)
chemical, G) observations, H) provides, 1) particles, J) radioactive.

I11. Choose the correct option

Choose the alternative which best matches the meaning of the phrasal verb in
capitals.

Choose the word which best fits in these sentences.

1 In London this morning, three people wearing masks HELD UP a van
carrying gold bullion.

a) robbed b) lifted
c) delayed d) stole
2  The nurse is on a case right now, but he can probably FIT you IN later on.

a) examine b) try to cure
c) find time to see d) look after

3  She had such a bad cold that | was not surprised she DOZED OFF in the
middle of the afternoon.

a) forgot to take her medicine b) fell asleep
c) felt very ill d) went home early

4 It was so hot in the theatre that | almost DROPPED OFF.

a) decided to leave b) fell from the balcony
c) fainted d) fell asleep

5 Don't buy the first thing you see: SHOP AROUND a hit.

a) visit many shops to compare prices
b)find the cheapest one

c) look at everything in the shop
d)decide exactly what you want

6 It was getting late so | decided to TURN IN.
a) give up b) go to bed
C) switch off the light d) go home

7  The London-to-Sydney flight TOUCHED DOWN IN Bombay.

a) made a stop at b) crashed in
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c) flew low over d) was forced to land in
8 I 'wonder who first HIT UPON the idea of using invisible ink to send secret
messages.

a) finally rejected b) carefully developed
c) openly criticised d) suddenly thought of

9 My speech started well, but | DRIED UP after a few minutes.
a) got bored b) couldn't continue
c) decided to cut it short d) began to feel thirsty

10. Several childrenhadto  stay  away from school because of the bus
strike.

a) play (b)stay C) go
11. Did you ever play that silly game of knocking on someone's door and then
away?
a) banging b) turning C) running
12.  'I'd like a pizza marinara, please.’
“To eat here or to away?'
a) take b) put c) throw
13. If you don't like injections, it's a good idea to away when the doctor sticks
the needle in.
a) pass b) turn c) look

14.  We decided to away from the main party and form a new party called
the Lunatic Party.
a) stand b) break c) slide

15. He says the house is haunted, but I think that it's a story designed to
____children away.

a) beat b) explain c) frighten
16. | didn't want to disturb anyone, so | just away quietly without saying
goodbye.
a) slipped b) shot c) ripped
17. If you park illegally in London, the police will either clamp your car or
it away.
a) blow b) tow C) row
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18.'0Old soldiers never die, They simply __ away' (song)
a) fade b) fire c) fall

19.  The old tramp asked for something to eat, but the farmer him away
empty- handed.

a) pushed b) took C) sent

20. Qutside the town, the speed limit is 70 mph. In built-up areas, the speed limit
IS reduced to 30 mph.

a) made-up b) packed-up c¢) built-up d)
filled-in

21. An industrial society which makes goods that are not designed to last is
known as a society.

a) fallout b) takeaway  c) set-aside d) throwaway

22. A neglected part of a city is called a area.
a) washed-out b) leftover c) cast-off d) run-down
23. Someone who is mentally confused can be described as a person.

a) cast-off b)) mixed-up c) patched-up  d) broken-down

24. A very old carpet could be described as a carpet.
a) throwaway b) worn-out  c) written-off d) used-up

25. If you think and behave as if you are better than everyone else, people may
describe you as a person.

a) wound-up  b) dressed-up  c) pop-up d) stuck-up

26. After a lesson or a course, the teacher may give you additional tasks to do.

These are known as activities.
a) follow-up b) stick-on c) workout  d) standby
27. A blouse that is transparent is called a blouse.

a) look-in b) peepshow  c) offbeat d) see-through
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28. When one company tries to gain control of another by offering a high price
for its shares, it is making a bid.

a) breakthrough  b) showdown c¢) makeup d) takeover

29. A person who is rather reserved or cold in behaviour can be described as a
person.

a) stand-offish  b) stuck-up c¢) overdrawn d) outcast

30. ‘Areyou ill? You look terrible!
‘Well, lamabit run  down. The doctor says | must rest.'

a) run b) turned c) knocked

31. Some people can just __ off a cold, but mine last for ages.

a) shrug b) wash c) slide

32.  Isn't this terrible weather for April! on summer!'

a) Roll b) Call c) Drag

33, ljustwantto  myself up a bit before we go out to dinner.

a) freshen b) liven c) touch

34. You must be me up with someone else. | am NOT an actor!
a) mixing b) matching C) pairing

35. Poor Malcolm was completely taken in for a while. He'll never be able to

it down.
a) live b) hold C) keep
36. If you never put oil in your engine, one day it will up completely.
a) seize b) shut c) crash

37. When he ran off with the company funds, the Board tried to
up the whole affair.

a) hush b) close c) tuck

38. | was at a party, and people kept staring at me. Then it on me: | was
at the wrong party!

a) dawned b) hit c) shone
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39. | have a busy day tomorrow, so | think I'll in now. Good night!

a) turn b) lie c) lay

40. Dad, I'msorry to the matter again, but I really
need to have a computer of my own now that I'm preparing for
my final exams.

a) set forth b) call out
c) bring up d) hint at
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